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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307219895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307219896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307219898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307219899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307219894 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
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Sub questions

Question Number : 1 Question Id : 53307219895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307219896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307219897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307219898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307219899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
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Sub-Section Id : 533072780
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307219900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307219900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307219901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307219901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307219902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307219902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307219903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307219903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307219904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307219905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307219905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307219906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307219906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307219908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307219908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307219909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307219909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307219910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307219910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307219911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307219911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307219912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307219912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307219913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307219913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307219914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307219914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307219915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307219915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307219916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307219916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307219917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307219918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307219919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307219919 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307219920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307219920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307219921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307219921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307219922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307219922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219925 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307219926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307219928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307219929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307219930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219930 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219931 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219932 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219933 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd
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Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307219934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307219934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) 7% e o Iuferta W o e €
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307219935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307219936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307219936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307219937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307219937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (A), (B) (C)
() A () () D)
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(4) % (A), (D) ()
Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307219938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307219938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307219939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219939 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072781
Question Shuffling Allowed : No

Question Id : 53307219940 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307219941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307219942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307219945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219940 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Tt SR €191 % 14 T o e o, FS! 6 € S € e, o 709 § s 4 | 4 Feebe
— Tt 1 o o AT e 1922 % TR g Ty A AR § GRR efen o
fergl 1 S fren; S ST 3 2 TR €, 32 W SR o o T TR, T Seerd, sifeck &
o SPAT 1 SA formeul-er e A

Sub questions

Question Number : 46 Question Id : 53307219941 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307219944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Tamil
Section Id : 533072262
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072782
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GIGHMEML_LOL LD LI(H&H6V 2]606V8)
L|6ML_LOL_LD LIL_Meor LM LI6mL_UILOUIS GmGsoT
61607 M1 L|SLALILI(HLIGU6DT WITIT?

1. SISIWLILOTEOT

2 @il

3. GLI&60T | |
4. GHITUGILIHEHGETLO6OT

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307219946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GIGHMEML_LOL LD LI(H&H6V 2]606V8)
L|6ML_LOL_LD LIL_Meor LM LI6mL_UILOUIS GmGsoT
61607 M1 L|SLALILI(HLIGU6DT WITIT?

1. SISIWLILOTEOT
2 @il

3. GLI&60T | |
4. GHITUGILIHEHGETLO6OT

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307219947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fhld @)6VHHILIGTHI60 G606 6T60TLIG60T GILIT(H6IT 66016012

. ]

- B0 Neremer
.~ LDIT6OT

- 2 (hiL

Options:
1.1
2.2
3.3
4.4

[ —

= L

Question Number : 52 Question Id : 53307219947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fhld @)6VhHILIGD60 G606 6T60TLIG60T GILIT(H6IT 66016012

. Bl

- BrCNeremer
.~ LDIT60T

2 (hiOLY

Options :
1.1
2.2
3.3
4.4

[l =

= Lo

Question Number : 53 Question Id : 53307219948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LNL6)] - 6TLILIHEUGHSH6V LDEV(IHLD 2

SITJEHITEVLD

. TS SHITeLLD

3. @)6m@euU6siMasmeVLD
4. LileoTLI66M885meuLn

Options:
1.1
2.2
3.3
4.4

2 =

Question Number : 53 Question Id : 53307219948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L6 - 6TLILIH6USTHI6V LDEV(IHLD 2

. SITJ&HITEVLD

2. GaH\JG&H SHITeVLD

: %GT(BG}JGUHQJESHGULD
4. LleoTLI6ol&&BMeuLD

Options :



1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl @)V SILIMIGHET 660G MG LOTMITE SJeUDEmMLI LIT6wT])
LITL_6VG6IT 6T60T M) S{eMLOGGHE0TLD 6T60T M6 2

L &I Fousslol
). &. OGHVFLIG)
3. a1, GeusL L Neemel
4, [BIT. GUITGBTLOMLOGT6)

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

il @)VGSILIMIGHET 660G MG LOTMITE SJeUDERMLI LIT6wT])
LITL 6VG6IT 6T60T M) SIeMLOGGHEUTLD 6T60T M6 2

| &I FleugsLoL
). &. OGHNFLIG)
3. 9y, CeuaL L Neemel
4, [BIT. GUITGDTLOMTLOGIE

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219950 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

CILIHMIGEMS 6TLIGLITS G Mot MILIIHEELD 6160 M) 6T6N.
sneULITLIIL6Tem6IT S(HGIG60T T2

1. &) LY. 650
2. @) L9 850
3. &) L 750
4. B 19, 550

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CILIHMIGEMS 6TLICLITS G et MILIHEELD 6T60T M) 6T6N).
sneULITLI I 6Tem6IT S5(H&IG60T T2

1 &) LY. 650
2. &) 19. 850
3. &) L 750
4, &) 19. 550

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307219951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QU W Ly T60sT&&HI60T F([HERSLI GILILLITEET 6T6LM6D)
S LILIGDL LTS GI&TE00T(H (60O SHIGTET6E0T?

- HHBHILHECSHTmS
. H(HFFHHLD

. BHSST600TL_SHLD
BHEHOSTCO0TL_[T Gl T6emE

Options :
1.1
2.2
3.3
4.4

b2 —

-

Question Number : 56 Question Id : 53307219951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QUL L meooréh&H60T F(HESHLI QILILLITEET 6r6LM6mIM)
S| LILI6ML_LLIMTEHE GI&TE00T(H) S6MLOMHSI6TET60T?

- BOHHTLOSCSHTE0G
. HFFHHID

. SHSHTE00TL_HLD
. HHFHOHITEOTL[T QG T60SH

Options:
1.1
2.2
3.3
4.4

b2 =

4

Question Number : 57 Question Id : 53307219952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FlouILEBMTEH GUIGSLULINILD FTHMGILT adsl 61hHS
LOGITET GG STVHHI) SLALPHHE6) CULPMISES QBTL RGNS 2

1. LDesrevd Garpp

2. LImésmeuL LmGooTq Ly
3, L6UGVALIT

4. Umaievs CaTy

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307219952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FlLILBGTTETI0 GOIGSLULHLD FTHMST Faddl 6165
LOGOTEOTEH6T SITEIEHI0) BLALPSHEDI6) LLAMIGS QGITL MGG 2

. LiDesrmevd GaTpp

2. LImésmeuL LimemoTiq Uy
3, LI6UVGLIT

1. Umameug Ca1y

Options:
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@uL_geuflL WrsSiflessHlev omumyil hHLossTmLD Wh&HE
LDIT6O0TEGHTL_G06HT SHIB&HE?

1. [Dl&ITeoT6ar
2. SAlDLI6T
3. O GUEGOT
4. QLIWGOT

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@ gt Wngsflasdlev oLl (&L mLD WTHEHE
LDIJ6U0TEGUTL_6060T SHB&HE!?

1. [Dl&ITeoTeT
2. SLOIDLIGHT
3. 2 QU6
4. QLIWGOT

Options:
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DY 67607 ) GUPTRISLIGIL DD B BeumIGLomfl @ 6oy WiemLLLIg?

. QULGGS BlmeiBlL Llememer
2. SIPBILI LOGETLITN LY

3. [HEHBLIY

4. BlmsEmemeL Lo



Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(DY 67607 ) QUG LIGILIDILD BHEUMULOLS 2 60 WMHEnL LIS

. QULGGS BlmeipIL Llemsmer
2. SILPBIL LD6TOTRUITET GFLLI

3. [HEH6LIY

4. BlmsEmHmeL Lmer

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S eTeoTLIGMEL CLITTRFILT SHHD cll6md:asin Wma?

. BMHL&HET 2 anmallL LD

2. GEOOTLITIITED GUI(HLOLILILIHILD SHESTEmLD
3. 6p6lTILOIGE GUIEMTRIELD SH60T60L0

4. LGHHSHHHSH CHTHMLD

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S eTe0TLIGMEL GLITTRAFILIT SHHD 6ll6md:aLn WTa?

. BMHL&HET 2 anmallL LD
z GHE00TLITIT 6D QMIIHLOLILILIHILD S60TemLD
3. 6p6lTILOIGE GUIEMTRIELD SH60T60L0
4. LGHHSHHHSH CHTHMLD

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘GLOILD LOGTOTLGVLD SBEILD BTN ERTETLY 6T60T 1) S MILIGU WLIT]?

. CEHEILPTY
2. BIBETESTE]

3. Bimepeuy
4 GBS

Options:
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘GLOILD LOGTOTLGVLD SBEILD BTN GHTETLY 6T60T ) S MILIG WLIT]?

. CEHBILOMY
2. BEETEETE]

5. Bimepeuy
4 GBS

Options :
1.1



2.2
3.3
4.4

Question Number : 62 Question Id : 53307219957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘© (LIUEHEHWIT) QUITIHET FleUGI60T60T M) 3 (HETTE6V

2 GOOT I BEGMIBHSIT - LITJ?

|. G600T600T LILI [HITLLIGOTITI]

&G [DITLLIGTTITIT
HHSUIILS CISHTE0TL T
4 FITEHSL [BITUIGOTITI]

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307219957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'© (LGOS WIT) QUITIHET FleUGI60T60T M) 3 (HETTE6

2 GO HSMIBST - LIT[?

1. G600T600TLILI [BITLLIGOTITI]

2 %ﬁl}&)@ [BITULIGOTITIT

3. BHEGDILILIG QGTEo0TL_IJ
4. GITHHIL [BITWLICOTITIT

Options :

1.1

2.2

3.3

4.4



Question Number : 63 Question Id : 53307219958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&H6llEhl FHHCRMHII60T H6lend ey

B56L0 CEHTERELD SHaTeflLILITEILD
%r}? il 46mLoLLl u_%(d 2 V&
. &eotlsmLouileor 2 UL @)mese0d a6t
. &6016Ml60T (LPHMEBBHI6V HENTUNTRIGLD SHTT6SHE6I

T R L

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&61lEh F&HCRMHIUN60T Hellend Hiley

560 GG TEHFLD S6TerflLILITEILD
%r%b Ml yemLoLLl u_%(d 2 6V
. &6oflemLuilest 24 UITLD @) MEs &6
. &60T6Ml60T (LPHMBHI6V HENTWITRIGLD SHITTE0ISS6I

4= o b -

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Lilerentlemenor 1L |8 660 Gleveleuba GhaiT gLl
L{pleoTiD

. GLLIBEMBEH6IT 2600TEH6IT Gl LIGTITE6IT
2. G G, Flov @MILILISHET
3, H}aﬂmmu&@aﬁ G
4. LI6mememGl s (& aer ellemer
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LileoreutlsmenorLIL I8 6ML60T Gleverfleuba &by g TLAlUleor
L{leoTiD

. GLLIBENBH6IT 2 600TEH6IT Gl LIGTITE6IT
2. G Cm. Flov @MILILIGET
3, H}aﬂmmu@@aﬁ H0G
4. Ll6memenQ&(hb STl ellemer
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QIBHITHRINSDHS B [BITL_FHHH60T 24 ST

L. LIflgmq T @hienfl
2. @BEHTT UTISSHETTH
3. GIZLIHSH60T

4. & (LPHSHLLLIS)



Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QBTHIENGES G BITL_SHEHH60T 2 FAf LT

1. UIflgwqT @hreof]

2. @BEHTT UTISSFTTE
3. GI2LITHEH60T

4. & (LPIHSBLLLIS)

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

91T, @ LITLO6oof IWl6oT ) miget&emLL LOTTHSHILI6V
GILDMLOIGILILIT&HEH 6L

1. & LomlwliLIeor
2. &. Uof. Lof

3. U oy, pregmymin

4. GT60T. H}Ulj]ULDGGUﬂU_ISEjT @aITL_WLIT

Options:
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



91T, @ LTLO6oof ILIl6oT ) migem&GemLL LOTTHSHIL6V
GILOMAIGLIWITSH&S6UT

1. & LomlwliLIeor
2. &. Uof. Lof

3. U oy, pregmymin

4. 6T60T. SrLILITLO6o0HLLIGET G&BITL LI

Options:
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[BEOTETGVTTT &L (HILD GSPHNT HlemeLG6rl6T eTetorennfleenas 2

10
A
32
4, 1

Options :
1.1
2.2
3.3
4.4

o

Question Number : 67 Question Id : 53307219962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[HEOTSTEVIT Sl (HILD ESBHNT HlemeLds6ITlur 6T600T600TIdH6m8 2

10
4
32
4 7

Options :

Tt



1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LISTUDILIGT SBEID LIBILIST LGSO

GU(LDGLGV BITeL GLEMEWIGOTTEEIT - 6T60T D G SHNILD @)L LOGLIMILD
@)LI6v

L2 fludlwey
2. ellsmeoruilLiey
3, QUWliey
4. QUTEIeMLIG

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LISTIDILIGT SBEID LIGILIST LGS0

KU(LD6GV BHIT6D 6UEMEULI6OTTEET" - 61601 FHEGHITLD @)L LOGILIMILD
@)LLI6

L2 fludlwey
2. ellemealiLiev
3, @uwwey
4. QUITEIeINLIG

Options :
1.1
2.2
3.3



4.4

Question Number : 69 Question Id : 53307219964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GEITLY eULOLA LAGLILI - QuemIyIL6meDT L
ILIT66BTERE; S (LDULIME HlemEIGILIGTL
GHIT601G [HITL60T Fr60)60T",

 GLOMAGUITL LML 60T 61G 6ULD 618 CIGUGTITLIT 6UEmE6GILLIE
FIIHSE)?

- LISGIMIMENL Ol6U6wsTLIT
- BB LI6L CleuevarLIT

- BT CleuemTLIT

- Criflena GleusmoTLIT

= L D =

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GEITLY eULOLA LAGLILI - QuemIyIL6meDT L
ILIT66BTERE; S (LDULIME HlemEIGILIGTL
GHIT601G [HITL60T Fr60)60T",

GLOMEEHTL LITL 60l6HT 611G 6LLD 6T1hE GlLETITLIT QUENEENILIE
A

- LS@MmenL G6e0aTLIT
- GIBGILIG CleuewrLT

. GM6TT GleuemurLT

- Criflena GleusmoTLIT

-Ih. L B —

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307219965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘oI (M QUUITIHETHE HemUIL| GILOMLAIE 6m6IT

LOMDASIGUIT 19U |6 6ULDMIGHGT - * 6T60TMN) [HEOTEIM6
GSBTSHNG I QUITHETES M6l

L WmmHmi By CIIMHETESHIT6T
2 ﬂSlU e LI QUUIMHETEEHT6IT
3. SITULIN6MEL GILITHETGSsIT6IT
4. QUOMLAILOMTMHMIL QUITTHETGSSITET

Options :
1.1
2.2
3.3
4.4



Question Number : 70 Question Id : 53307219965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘oI (DM QUITIHEHE HemIL| GILOMLAIE 6m6IT

LOMMOIGLLIT 719 LL|6T GLLOMRIGHEHT - * 6T60T 1) [HEOTSBIT6Y
GEHTHHDSTIL QLITDETESHTET

L WITHmI BT QUITIHETESSITEIT
2. Hlyesflemy L QUITIHETGS 6T
3. SITULNemEFL GILIMTIH6TESHITET
4. QLOMPILOTMHMIL QUITTHETESHITET

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307219966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OV 60T ORI 61607 QG MEVSTLILIW BIDHLIT6ANE 61158
o @WTRIIWIT 58 CLomEHTEmeL LI6oT6aT6ub
2 @M IWTSHEHLO SHhg6) 2

. QEHULICLEFFmEIITIT
2. @6TLOLT6u0TT

3, EGTTIGHSefIL
1, GEFGTEEMITLLIT

Options :
1.1
2.2
3.3
4.4



Question Number : 71 Question Id : 53307219966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OV 60T LOHIIERI6IT 616071 QG MELSTLILIW BIDHLIT6ANE, 6T15S
o IWTAFILT Hb& CLOMEHTEEL L6TeuTehe
2 @IWTRIFILTHERLD SHHEET 2

. QEIICLEFFmEIWITIT
2, @)6ITLOLL[T6wTTy

3. BTG
4, GEEUTITELEMITLLIT

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307219967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G([héh 606V TR G 61 g QLOTLAEEHI LG SHE
G &I?

HGSHIT-ETMLILIL QoM EH(HILDLILD
QUISCSHT-LITLO6T GILOMLA&EHILOLILD
3 Giymed GLomAl&sEHULD
4. @yl QLomLAlE @(HiDLILD

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307219967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B(1Hdh 2166081 66T GILOMLA 61 HS QILOMLOIBEHILOLIGEMEF
G EI?

[HGSHIT-LETMLILIL QoM EHILDLILD
CLSCHT-LITL06T GQILOTLOIEEHILDLILD
3 Giymel GLomA&sEHnULD
4. 2y QLomdle @hinuLD

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LOML (B 6T60TLIGMEL LILGTLI(HGSIL LITL 6VS6m6TE Flenssh g
QILIT(H6T QG TEBOTL_6UIT TS &L L LILIHILD & emywmErflLy

L QUMW

2. BEGleTmISGIILT
3. QFaTITELEMTILIT

4. QELIGIE FemeULLIT]

Options:
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LOML_(h) 6T60TLIMGLI LILIGTLI(HGHILI LITL 6UE606TE Flendd 8
GILIT(H6T QG TEBOTL_6UT TS &L L LILIHILD & ey wmEfliy

L GUTRIIwIy

). BEF TSSO LT
3. GoFaTTeLEmTLLIT

4, QBLIGE FemeuLLIT

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT Qisr ] QLOMLAIGUULIGT &b, IGIBEULD” 6T60T ) BTHLITEmE
el @SN E eUMTILALDTLIS SenSEILG Sanil 2 600 6LOHILI6UT

. GEFeTTELEHTIT
). BEVAUTL GBI
3. @6TLDLLTETT]
4, CUITEITIwI

Options:
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QBTG Gl6aT ] GLOMLOlGULLIIGDT 2, G HEUL 6160 BT HLITETE
el @SN E CUMTILALDTLIS SenSEmLE Sanil 2 600 6LOHILICUT

. CGeLEmITWIT
). B6VEUTL GBI
3. @6TLDLLTEOTT]
4, CUIMERITILI

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“HlEEIILIMD SEOTEMLOLLIETIL LI © 68T JEFFIGU @OVSHHILGHDE
lEnEVGLITHENL LI S6ITENLOEMILIS SHHM S 6T6Tm) HLALPE,
M6OTITLLIGUITET?

. [BIT. GUIT6OTLOITLD6BI6

2. BT 6. GIETENIEH
5 L8 @HGGTEFLDI_I[F)&)@T

4. QBT (0. &), F@HISH60T

Options:
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“HlemEULLIM) GHETERLOWLETLLLI 2 TG @eSHILSHNE
lEmEVELITHEmLLL GeT6mLOEMILG, SIHHIMEL 616071 HLALPE,
GM6OTITLLIGUITET?

. [BIT. GUIT6OTLOITLD6DI6Y

2. BT @ETeNIHE
3. ) 6. GHTGTEFLOLIHEET

4. QBIT. (10, &), FGBITEH6T

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G0t LT SLEHE0ILD, 2680 TTEE) eUULILILIM(E), SDLIGHAT,

IDTL&6T6OmHS! (LAHEDLWLITET SHHHHIL LPSEOILIaIDEmD
(LDGOTEMGULILIG)

. @WmHLTTLIILE
2. SIPGILIG

3. @mLLiliwey

4. LemeorailiLiey

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G601 IBLIT 246600, 2 600 TTE & eUULILILIT(H), SMLIEN6T,

IDL|&6T60IMmBE! LXPELOLITEN SHHEITLD (NEGEIILIAIDEM
(LDEOTEmGULILIG

. @WmLUTTLIIWLE)
2. SIPHILIG

3. @HLLIWe

4. LJemeorailiLiey

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"SLOLITTLOMW6HOTE60S QUOMAIGILIWTLLE ST
eTeTLIEN 6L QUOMLAILNMLILIE SITLILILILD 6T60T M) G MI6UEE
FIFILIMELD* 67607 M) Fo MILLIGLIT

. GUL&LL LOmeuoflenLn

2. O & (EHTEOIEFDLIHEGT

3. 6\ 6. Flugmaen

4. (LD, SHCyG60r QEFL QU

Options:
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"SLOLIJTLOMLIGTOTE6NES QILOMAIGILILITLILIS STULWLD
ororLIsma&el L QLOMAILNMLILIE ST 61607 1) S 0)I6UES
FIILIM@LD” 67637 M) Fon MILLIGLIT

1. 6U&LL LOmeuoflenLn

2. 3. & (EHTEOEFLDLIHEG0T

3. B &. Flougmis e

4. (LD, SHCyE60r QEFL QU

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T&lsLO6mM 9. G, &) WIM6Y [HLGSLILILL @)eVehEIL Si6mLOLIL

. G

2. G\6T0T6H600T

3. QUL SIBITLIG
4. (POOLO

Options:
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TESLO6T0M 1. 6. &), W6V HLSSHLILIL L @)6vHHILL SiemLOLIL

L &L

2. G\6T0T6H600T

3. QUL GRIBTLIG
4. (PHMLO

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BhIG LO60T60T60T SHITEMIHEH60T, FMTEHEHSHIL 2| [TF60T
G161 SBIGUTEGHEOT60T STV LIGV6V6EY S [TEF60T

%UH& FILDLOGOT
LOLD 6l6)q 650)
. BIEILDLOGUT LOGOT

. CLPGOTMITLD [BIHGHI6UIT OG0T

Options:
1.1
2.2
3.3
4.4

= L k2 -

Question Number : 79 Question Id : 53307219974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S8 LO6OTE0T60T HITMIHE60T, FITEHEHIL S|[TE60T
616)] SBIGUTEGHEOT60T STV LIV6V6Y | [TEF60T

. %UHE GLDLD6OT

LOLD 6)116)Q 6T0)]
3 B SILOLOGLT LOGOT

4. PLPGOTMITLD [BIHGHIGUTLO6OT
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307219975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOLE @SS SHESLILIHLD Fhish SITe0LI LITHTIG L L6660

BSI_DlI61T LDMILIGS @)eTLDGILI(HeL(LDE)

[-g —_—

%n (HLOMMET
@%mw & BIEEFILI [amLOM 6T
- GIETLICLIATUI6 L[58 2 SHITLIGLIHAILNE)

=

Options:
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307219975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S QGG H(HSBLILI(HILD &G SHT6ULI LITETTQ L LD6T68T60

BSI_DlI61T LOMLIGE @eTLaLIGaIWE

%,D (LMD
gggmrm@ & SIeHILI B6OTLOM 60T
- GIETLCLIATUI6 L[58 2 SHITLIGLIHoILS

[-\_'} —_—

=

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GEHMEFTEH6T LS LML GII(HGS! SIEHHTLENL & masLILHIL
GGG TV GETLRGT

1. Glefmer uerew60T

2. G CTLp6T

3. GHTLIGILICHER CaTL60
4. QmHIrGerer]

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GCEME 6T L8 LIMLAW(HES SEHHBTLMLE ensLLDHiIL
FhG BTG CHTLOGH

1. Glefrer] euemeLGoT

2. Giflem GermLoer

3. GHTLIGILICHE CETL6H
4. GHIraGerer]

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9. QUBiTLl601 et L LI Lswoflasetlen (UL L CLITEI pL Gl
©)(IB& [BITLLIGES, LOGHTE0T6

BHAUTLD ER\(HO ATLILI [HTLLIESE(]
%p@mﬁmeu BTLLIE]

3 (PBRUTLD (&S 6TLILI [ITILEE!
4 QETEHEENG HTLGS)

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9. QUBITL60l Lot L LI Lsvoflesatlen Fr(MULLGLITEI 4L Gl
(O)(5I5& [BITLLIE:S LOGHT6DTGT

BHOUITLD (eI SWITLILI [BTLIEREH]
(HLOENEV [TILIERE]

3 (PGOTLD (G AL TGS
4. QFTEHSHHNS BTLIGH]

Options:
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

F6MLD ANGSID LITL(HLD - 61685 QIBULICISEHT(H CGTLTLEmLLLI
FLhIG?

| mnu‘]mmmﬁm
QLILIGD SILOLO6IT
GOlLLILDLOGDT

4 %L@Uuamm 9|LDLO6TT

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GO0 61D LITL(HLD - 6165 GG LIUSESHT(H QGTLILImLL
LGy

1 mnu‘]mmmﬁm
1 LILIGDM) SLOLOGOT
GOlLLILDLOGET

4 %L@Uuamm SLDLOGIT

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIBSHITE {6MLOLIL6TL_LLI 6UTUIGILDITLOS &6t

FhIGe0H CBITL_J&HNS
EUTLILIMTL (h\& &60)5
CHOUMNBHE: FH6M5
LILDLOT LS &H6005

= b

Options:
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIHSHTH {eMLOLIL6MLLLI 6UTUIGILDITLOS &6

. FRIHS Q&L JHNS
2. GUMTWLLITL(h& &60)&

3. CHOUMBT: HNG

4. LILPLOT LS &H60&



Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIHULTL(H) @&ILD LOCHET 66T 1) GUIULILLILILL GUTSHET WIT]?

. Blanud LIFUBGL GEILITE6T
2. GouBLD IWaLITERAT

3 GL00 QEILGUTEHAT

4. CERUMITLD RBILICITE6IT

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SImULTL(H) &0 L0GCHET 660 M) GUILLILLILILLGUTSE WIT]?

. Blauud LIFUBGL GEILITEET
2. GAUBLD ILALITERAT

3 L0 QEILIGUTEHAT

1. CRUMITLD REILIAITE 6T

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LI6V6V6LIT BITVEBI60 ‘G LIG 6T60T M @GMILILILLILI(HILI6UIT

L AL

2. EILITMGIGHTEVEVEOT

3. QEFLIGLI&6TEL QUITMILILIGUT
4. LOJGGHFF6OT

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LIGVBVGLIT SM6LEHBI6) ‘B LI 61607 M @GMILILIL_LILI(HILIGULT

- Hmld

. QUITMGIHITEVEVEDT

- QEFLIGLI(H&6TleL GlLImLILIGULT
L0 &8 EE60T

e

Options:
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307219982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘BleoTeUJSHSLOMe0T " - HLAILOI6L a6l (LDG6V

6T @)SHLD
. [brerflgLp |
BTEVITE00TLY LD

DTS Q\SLP

oo ¥ D PR

Options :
1.1



2.2
3.3
4.4

Question Number : 87 Question Id : 53307219982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘BleoTeUJHSLOMe0T " - HLAILOI6L a6 leUHES (LDG6V

6T @)SHLD
. [brerflgLp |
BTEVITE00TLY LD

DTS Q\SLP

oo ¥ D PR

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FLRG 815 BLAILD BIVSET HBGLOMGE 2 66T @)en6mTLL GETLD

. www.projectmadurai.com
2. www.tamilheritage.com
3. www.noolaham.org

4. www.chennailibrary.com

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



PG SIH GLOILD BTV HGIGLOME 2 66T GEm6uuTiL LD

. www.projectmadurai.com
2. www.tamilheritage.com
3. www.noolaham.org

4. www.chennailibrary.com

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HLODE QEF TIPS H(HHS)

[. GILITE0TLOL 6V
2. eUIIHLIT
3. GUIT6oof

4. 9|O)BITHLD

Options:
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHLOILDE QEFTOLIELLS H(HHS)

[. GILITE0TLOL 6V
2. eXlHLIT
3. GUIT6oof

4. &B)IBITHLD

Options :
1.1



2.2
3.3
4.4

Question Number : 90 Question Id : 53307219985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LAl60T BT MTHGHEHEG, LOL_(HGLD 2_[fl &6ITLD

. SLOILD @)60I600T LIS 606118 SLOGLD
2. CUITEIIT (LNGHEMSLIT 4T MTILIEE [HlemeuLLILD
3. 0GOS HIL_LLD

4. QIH60TEOTITHFIWLI LOIGOT HiT6LELD

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LAl6OT BT MTHGHEHEG, LOL_(HGLO 2_[fll &6ITLD

. SLOILD @)60I600T LIS 606118 SLOGsLD
2 GUITRIT (LPGHEMSUIT Q4T MILIFEF BHlemeullLD
3. LDSIMIS HL L LD
4. QIH60TEOTITHIWLI LOIGOT HiT6LEHLD

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307219986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G\HEHGATlET LEnLLOTL ) G\ ETIHEI6 GDETEHEET ©)m6)
QEFTHHEE QTR BITVL(HEEi5.

ALI6mL

B. 616

C.Q&(HID

D.{f18)

@eummieT Fflwmens:

1. D,GCAB
2. AD,BC
3 CADB
4 B D,CA

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307219986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G\HEHGATlET LEnLLOTL ) G\ ETIHEI6 GDETEHEET ©)m6)
QEFTHHEE QTR BITVL(HEEi5.

ALI6mL

B. 616

C.Q&(HID

D.{f18)

@eummieT Fflwmens:

1. D,GCAB
2. AD,BC
3 CADB
4 B D,CA

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307219987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6161, mGULLITLIFILILNGMEmaT &rL(HILD STeMIILI QILITHEveIT
BIFVLIDIGSIE

A. ST WLIMIG6T 60T QILITE) @)UIGVLIS6IT
B. SIT6UILLI SIT6VLD
C. SITeMlWmigs6rler 6(hml @GS e

D. ST WM 68T GUIT6VIT M)

@eUMHMIET FFILLITETS!

1. DACB
2. B,D,AC
3. GCADB
4. D,CBA

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307219987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6161, mGULLITLIFILILNGMEmaT &rL(HILD STeMIILI QILITHEveIT
BIFVLIDIGSIE

A. ST WLIMIG6T 60T QILITE) @)UIGVLIS6IT
B. SIT6UILLI SIT6VLD
C. SITeMlWmigs6rler 6(hml @GS e

D. ST WM 68T GUIT6VIT M)

@eUMHMIET FFILLITETS!

1. DACB
2. B,D,AC
3. GCADB
4. D,CBA

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



660 I IF60THRIG M6 HlITeLLI(H &SI,
A. 6DGUGCHFIQ &HLD

B. LOLDTLD6ME

C. GWIM&LD

D. FITHRIGILILD

E. (HIWIMWILD

@6UMMIET SFIFILIM6ETS):

1. D,A,CB,E
2. A,CED,B
3. BD,AEC
4 D,CAEB

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



660 I IF60THRIG M6 HlITeLLI(H &SI,
A. 6DGUGCHFIQ &HLD

B. LOLDTLD6ME

C. GWIM&LD

D. FITHRIGILILD

E. (HIWIMWILD

@6UMMIET SFIFILIM6ETS):

1. D,A,CB,E
2. A,CED,B
3. BD,AEC
4 D,CAEB

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307219989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



600660076 2 FITIIWLITE6T LogenLI MITEVLI(H&HSISH

A. 2 ILIWGHOSITEOOTLITIT
B. LLI(LD6DIGOTE Sl6mM6L]
C. [BIT&H(LN60186IT

D. LD600TE&IT6V [HLOLY

E. QU lwmLol
@6UMMIGT SIfILIMeoTS:

1. CD, B EA
2. GAD BE
3. ADBCE
4 B,CAED

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307219989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



600660076 2 FITIIWLITE6T LogenLI MITEVLI(H&HSISH

A. 2 ILIWGHOSITEOOTLITIT
B. LLI(LD6DIGOTE Sl6mM6L]
C. [BIT&H(LN60186IT

D. LD600TE&IT6V [HLOLY

E. QU lwmLol
@6UMMIGT SIfILIMeoTS:

1. CD, B EA
2. GAD BE
3. ADBCE
4 B,CAED

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307219990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LTI SellengUileor g LILIemLUileD HlITeULINGEIS
A. BlevotenofILL GIHEREFLD

B. [H600T600T LI [Hl60T(L6DT

C. 6T6TOT6ODTILL (LDLG. &6V

D. LI6B0T600fILLI LIM6ULD
@6UMMIET FIfLITeorg):

1. ACD,B
2. D,BAC
3. CADB
4 B,D CA

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307219990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LTI SellengUileor g LILIemLUileD HlITeULINGEIS
A. BlevotenofILL GIHEREFLD

B. [H600T600T LI [Hl60T(L6DT

C. 6T6TOT6ODTILL (LDLG. &6V

D. LI6B0T600fILLI LIM6ULD
@6UMMIET FIfLITeorg):

1. ACD,B
2. D,BAC
3. CADB
4 B,D CA

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GEHITLILIGL (&SI LTI LIGGT Mmigenens: smeveifleneriley
hijeLIEEIE

A. B 60T60T GSHITLIL

B. Sl0M(LPGLD
C. &MY (BT &6

D. &L e BITTLOGT6T S0,
@eUMmieT FlLImes):

1. ADCB
2. D,BAC
3. BACD
4 CD,BA

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GEHITLILIGL (&SI LTI LIGGT Mmigenens: smeveifleneriley
hijeLIEEIE

A. B 60T60T GSHITLIL

B. Sl0M(LPGLD
C. &MY (BT &6

D. &L e BITTLOGT6T S0,
@eUMmieT FlLImes):

1. ADCB
2. D,BAC
3. BACD
4 CD,BA

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



meoTes)euT GULE] ellemeariledt ellEEH\g6mel HIT6uULI(HE S5
A9

B. 9|61
C. 96l
D. 1)
@eummie Fflwimeorg:

1. GBAD
2. A, D,BC
3. DACB
4 B,CAD

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



meoTes)euT GULE] ellemeariledt ellEEH\g6mel HIT6uULI(HE S5
A9

B. 9|61
C. 96l
D. 1)
@eummie Fflwimeorg:

1. GBAD
2. A, D,BC
3. DACB
4 B,CAD

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S(HLIGLITmETEHENETE QBTOVETLILIW BIHUT g LILIL W6
LGS

A.LJ6IT
B. LIGN(D
C.QELUS)

D.LOMT

@eummieT Fflwmens:

1. BCAD
2. D,ABC
3. ADBC
4 D,ACB

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S(HLIGLITmETEHENETE QBTOVETLILIW BIHUT g LILIL W6
LGS

A.LJ6IT
B. LIGN(D
C.QELUS)

D.LOMT

@eummieT Fflwmens:

1. BCAD
2. D,ABC
3. ADBC
4 D,ACB

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6. 2ellbaeor U [olsoT ) [HeTenIIel & aFLLITEFILLITEGmeT
TULI(HSEI6.

A. B PIIENSHE SLOLITT60T

B. 2}, 600T1Q LIL|6UGLIIT
C. LDWI6m6) [BITEIT

D. GTHIGI] [HLOSFEFIRUTILIT

@M FFILTETS:

1. CD,BA
2 B.DAL
3. DACB
4 ACBD

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6. 2ellbaeor U [olsoT ) [HeTenIIel & aFLLITEFILLITEGmeT
TULI(HSEI6.

A. B PIIENSHE SLOLITT60T

B. 2}, 600T1Q LIL|6UGLIIT
C. LDWI6m6) [BITEIT

D. GTHIGI] [HLOSFEFIRUTILIT

@M FFILTETS:

1. CD,BA
2 B.DAL
3. DACB
4 ACBD

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307219995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G6lleng ULl WTLILI6L SmLOBH HEELD @6 FSHSETELOWLIHL (L

660lGmLL 1T, 6. EHTETELNIEE) uEBLILINGELI6TAT (pemmley
pjeLIGIESE

A B
B. 21616

C. &0
D. /(PGB0
@eummI6T FILITETS:

1. ACBD
2. B,D,CA
3. BADC
4. D,BAC

Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307219995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G6lleng ULl WTLILI6L SmLOBH HEELD @6 FSHSETELOWLIHL (L

660lGmLL 1T, 6. EHTETELNIEE) uEBLILINGELI6TAT (pemmley
pjeLIGIESE

A B
B. 21616

C. &0
D. /(PGB0
@eummI6T FILITETS:

1. ACBD
2. B,D,CA
3. BADC
4. D,BAC

Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 53307219996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@IS TE6T 60T H6VE6UL(h GUTFSHMIGHENET MHITULI(HE S%
A. (LPTLGIL_LOl6D EFMIGH6ITTT FFLALOGBOTL 6V(LALD

B. @TL_LLIMLQ 67LR6MIT @)6UE(LALD

C. @LLD6M6Y BT(HILD QG TEVEV(LALD S60IMIS(LALD

D. (LP6OT6RI [T L1 LILPIB&6) LIeoTeof rmudly(LpLn

E. Sletor&lmen CleusaT g S600TLIT) G\&IT600TL

@6UMMIET FIlLIT6TS:

1. ABCDE
2. CABDE
3. D,ECAB
4 BACED

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@IS TE6T 60T H6VE6UL(h GUTFSHMIGHENET MHITULI(HE S%
A. (LPTLGIL_LOl6D EFMIGH6ITTT FFLALOGBOTL 6V(LALD

B. @TL_LLIMLQ 67LR6MIT @)6UE(LALD

C. @LLD6M6Y BT(HILD QG TEVEV(LALD S60IMIS(LALD

D. (LP6OT6RI [T L1 LILPIB&6) LIeoTeof rmudly(LpLn

E. Sletor&lmen CleusaT g S600TLIT) G\&IT600TL

@6UMMIET FIlLIT6TS:

1. ABCDE
2. CABDE
3. D,ECAB
4 BACED

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TGIBITS BITLSSHE GGG & TFTRISHEMET, 606
QLITMIGSLILLL &Tev eUflenguiley ﬂnwu@ggﬂas

A. 2GSl TLOMIGEVLN QEFLIGLI(H
B. ([ ES600T600T LOMIM &S GIEFLIGLI(H)
C. QIFWILLIGEBTHE6L &FITEF6ITLD

D. SEHFTEL] GIFLIGLI(H)

@eUMmMIET SFIIlLIT6TS:

1. ACBD
2. B,D,AC
3. GADB
4 D,CBA

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TGIBITS BITLSSHE GGG & TFTRISHEMET, 606
QLITMIGSLILLL &Tev eUflenguiley ﬂnwu@ggﬂas

A. 2GSl TLOMIGEVLN QEFLIGLI(H
B. ([ ES600T600T LOMIM &S GIEFLIGLI(H)
C. QIFWILLIGEBTHE6L &FITEF6ITLD

D. SEHFTEL] GIFLIGLI(H)

@eUMmMIET SFIIlLIT6TS:

1. ACBD
2. B,D,AC
3. GADB
4 D,CBA

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307219998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BL0lmmECL6UTE:S Cahmeley AIILOMGIT @ MILIL|G6m6T BITOULI(HESIE
A. GERITLLD

B. Fl&[L0

C.UMgLD

D, QYL L_TT6TLD

E LIpens LD

@eummyeT sl

1. D,CEAB
2. ABDEC
3. D,GEBA
4 ECDAB

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307219998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BL0lmmECL6UTE:S Cahmeley AIILOMGIT @ MILIL|G6m6T BITOULI(HESIE
A. GERITLLD

B. Fl&[L0

C.UMgLD

D, QYL L_TT6TLD

E LIpens LD

@eummyeT sl

1. D,CEAB
2. ABDEC
3. D,GEBA
4 ECDAB

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TP QUL 6 GMILILIHID 6ll(hieemaUiler SqLILIENL &
G MIFHED6T HIT6ULIH SIS

A. S5 )

B. QBTLGH&HF FLL HLD

C. 6l6Th & Fn 1)

D. (LDIG &G LD GUTULILIT()

E QLTS Gn 0

@WUMMIET FIflLIT6TS):

1. B.EEGAD
2. BCAED
3. BAECD
4. D,ABCE

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TP QUL 6 GMILILIHID 6ll(hieemaUiler SqLILIENL &
G MIFHED6T HIT6ULIH SIS

A. S5 )

B. QBTLGH&HF FLL HLD

C. 6l6Th & Fn 1)

D. (LDIG &G LD GUTULILIT()

E QLTS Gn 0

@WUMMIET FIflLIT6TS):

1. B.EEGAD
2. BCAED
3. BAECD
4. D,ABCE

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWmelletr H&ITevs SLALLSTTHII6) 2 6T6meuT mi LIS6Lh
o IS0 HITEULI(H S5

A. HEDCVECIFITEV

B. 6T(h B EGHTL(h)

C. (9)6UESH600TS S5660, QULPEHEGHGMILIL
D. SLAILALI QLIT(H6T, 2 RIGB6VLGLIT(RET
E. 6 BAUL 6L QEFTT6V, 6p60lEEMILIL
@RIDHMIET FfIWTeors:

1. ACDEB
2. AGED,B
3 AECD,B
4 ADECB

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWmelletr H&ITevs SLALLSTTHII6) 2 6T6meuT mi LIS6Lh
o IS0 HITEULI(H S5

A. HEDCVECIFITEV

B. 6T(h B EGHTL(h)

C. (9)6UESH600TS S5660, QULPEHEGHGMILIL
D. SLAILALI QLIT(H6T, 2 RIGB6VLGLIT(RET
E. 6 BAUL 6L QEFTT6V, 6p60lEEMILIL
@RIDHMIET FfIWTeors:

1. ACDEB
2. AGED,B
3 AECD,B
4 ADECB

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307220001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUITERBITHILILINL W6V SIfGTH CEFTLR6T QLITHHIHEHEL]
LIl S(LIm6

A LILLIT6mL

B. 9LOL|6TLP
C &6l

D. WLIT60)60T

@eUmnmIeT & lwimeos

. A B CLOL(HLD
2. B,C,DIDL(hID
3. A B DIL(HLD
4. A CDLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307220001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUITERBITHILILINL W6V SIfGTH CEFTLR6T QLITHHIHEHEL]
LIl S(LIm6

A LILLIT6mL

B. 9LOL|6TLP
C &6l

D. WLIT60)60T

@eUmnmIeT & lwimeos

. A B CLOL(HLD
2. B,C,DIDL(hID
3. A B DIL(HLD
4. A CDLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307220002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fhls @eVSHHILSSHI6L LITL LILIL GLIT eUifletndiley
@\L_LDGILIMGMITI

A LNeooTL 60T

B. HH&BSHITLOGOTITI
C Bles600
D. 67616

@\6UMMIET FIfIUITE0TS)

I. A CDLOL(HD
2. B,C,DLDOL(hID
3. A B DIL(HD
4. A B, CLOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307220002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fhls @eVSHHILSSHI6L LITL LILIL GLIT eUifletndiley
@\L_LDGILIMGMITI

A LNeooTL 60T

B. HH&BSHITLOGOTITI
C Bles600
D. 67616

@\6UMMIET FIfIUITE0TS)

I. A CDLOL(HD
2. B,C,DLDOL(hID
3. A B DIL(HD
4. A B, CLOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gl IS GBMTSHEALD 6wflELOE6mELULI S LG0T mieL(HLD
2 GUELDGEIT

A. I560TL0600T] WILPIBS, [BITEHLO @LIMGDT (66T
B. LIM&F6m) LD60T60rT) LIMLAIGLIT6Y

c. Lmeurell eT(pde0 GLIm6Y

D. 2} (hl EndBILL JeuaflGLL GLIT6y
@RIHMIET FiflLmeg)

. A B, DLOL(HLD
2. A B,CLOL(hD
3. A CDIDL(PID
4. B,C,DOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gl IS GBMTSHEALD 6wflELOE6mELULI S LG0T mieL(HLD
2 GUELDGEIT

A. I560TL0600T] WILPIBS, [BITEHLO @LIMGDT (66T
B. LIM&F6m) LD60T60rT) LIMLAIGLIT6Y

c. Lmeurell eT(pde0 GLIm6Y

D. 2} (hl EndBILL JeuaflGLL GLIT6y
@RIHMIET FiflLmeg)

. A B, DLOL(HLD
2. A B,CLOL(hD
3. A CDIDL(PID
4. B,C,DOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GapLhUMaUTTILl6L E6MELLD LOIFILLLD 6rEAILIS! BITL LG MEL!
LImUILIL L GUITE! LOIEGSTELLIE) SIGHEIT 6T EmEE

oI(HSSIMTHB6MeL

A DG LLIT M 6T60TE0)IL0 24, Ml6OT FIMLIL

B. @)smMmeL6l68T SFAMLIL |G

C. (@)6mM6U6DT 2[B! BRI LGSO

D. Q& ITE6L6T160T 60

@eUMmmIET SFIflmesrsy

. A C DLOL(BLD
2. B,C,DLOL(HILD
3. A B CLOL(HILD
4. A B,DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GapLhUMaUTTILl6L E6MELLD LOIFILLLD 6rEAILIS! BITL LG MEL!
LImUILIL L GUITE! LOIEGSTELLIE) SIGHEIT 6T EmEE

oI(HSSIMTHB6MeL

A DG LLIT M 6T60TE0)IL0 24, Ml6OT FIMLIL

B. @)smMmeL6l68T SFAMLIL |G

C. (@)6mM6U6DT 2[B! BRI LGSO

D. Q& ITE6L6T160T 60

@eUMmmIET SFIflmesrsy

. A C DLOL(BLD
2. B,C,DLOL(HILD
3. A B CLOL(HILD
4. A B,DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307220005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SEFEFWLILIL (p6otleuy

A Bmeumel(hiSiemm 4GSl CLICH]T GalelLILI CEHF\GIflsr
LOM6OOTELI

B. SIH&L|JITEITLD G\ LLIG6LIT
C SHTEREFILITT600TLO @)J600TLITLD ST600TLLD 6T(LPEILIGL
D. &6M[TTL_Gw & 6T60TLILIL_L 6]

@eUmnmieT &flwimeorg

. A B DLOL(hLD
2. B,C,DIDL(HID
3. A B, CLOL(hID
4. A CDLOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307220005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SEFEFWLILIL (p6otleuy

A Bmeumel(hiSiemm 4GSl CLICH]T GalelLILI CEHF\GIflsr
LOM6OOTELI

B. SIH&L|JITEITLD G\ LLIG6LIT
C SHTEREFILITT600TLO @)J600TLITLD ST600TLLD 6T(LPEILIGL
D. &6M[TTL_Gw & 6T60TLILIL_L 6]

@eUmnmieT &flwimeorg

. A B DLOL(hLD
2. B,C,DIDL(HID
3. A B, CLOL(hID
4. A CDLOL(HILD

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307220006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FloudsaellLnsuof| 665, SLILNTLOGISHL (DSEOILITIT BITME6IT
A CFEHBILPTHLD GEFUIHLLLITTSHEHLD

B. QLI ILLIL|TIT6BOTLD 6RIT 21 LiI6)]

C. 21RM60TTE QILIHMRISHENETLILGMLO Lil6Temens LAl
D. CFGHHILLM(HLD QFEALERLD

@eUmmie &flLLmeorsy

A CDLOL(HLD

- AB.CLOL(hILD

3. B,C,DLOL(HID
4. A B DLOL(HLD

[} o

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307220006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FloudsaellLnsuof| 665, SLILNTLOGISHL (DSEOILITIT BITME6IT
A CFEHBILPTHLD GEFUIHLLLITTSHEHLD

B. QLI ILLIL|TIT6BOTLD 6RIT 21 LiI6)]

C. 21RM60TTE QILIHMRISHENETLILGMLO Lil6Temens LAl
D. CFGHHILLM(HLD QFEALERLD

@eUmmie &flLLmeorsy

A CDLOL(HLD

- AB.CLOL(hILD

3. B,C,DLOL(HID
4. A B DLOL(HLD

[} o

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307220007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L|S160LOLILN G SH60f l60T &) MISH6008 85611
A. 8160718 @H600f|

B. &560TGTLOLITLD

C. YT LDLOI L Smq 60

D. SUWIMmMmye

@eUMMIET &FIFIWLIMeorS)

. A, B, CLOL(HLD
2. A C DIOL (KD
3. B,C,DLOL(hLD
4. A B DLDOL(hILD

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307220007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L|S160LOLILN G SH60f l60T &) MISH6008 85611
A. 8160718 @H600f|

B. &560TGTLOLITLD

C. YT LDLOI L Smq 60

D. SUWIMmMmye

@eUMMIET &FIFIWLIMeorS)

. A, B, CLOL(HLD
2. A C DIOL (KD
3. B,C,DLOL(hLD
4. A B DLDOL(hILD

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307220008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GRS 600l IWLIl60T Haletdh BITGLHET

A. @06 Lolm&sLD

B. 608 LIMM)| 6T60T &60T6)| @861

C. LE6060T60LLILT GLIM6V {6016V |LD QeuerlEFaLD
D. 2{6U6M6IT GILOMLAl QILILLITE &6V

@eUMMIET &FIFIWLIMeorS)

1. A B CLOL(hLD
2. B,C,DLDL_(HILD
3. A C DLOL(HID
4. A B DLDOL(hILD

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307220008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



GRS 600l IWLIl60T Haletdh BITGLHET

A. @06 Lolm&sLD

B. 608 LIMM)| 6T60T &60T6)| @861

C. LE6060T60LLILT GLIM6V {6016V |LD QeuerlEFaLD
D. 2{6U6M6IT GILOMLAl QILILLITE &6V

@eUMMIET &FIFIWLIMeorS)

1. A B CLOL(hLD
2. B,C,DLDL_(HILD
3. A C DLOL(HID
4. A B DLDOL(hILD

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307220009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QBTELGTLILILIGSHIE) CEFTEIMLILILL 61L& SIs6l 60T
LImULILmiger

A GLOMLIEEILD B EGALD DA QLITRHS EUGTILD LI EEL

B. BT 6Ul6iflLDL| 19 &L Liuellans) QBHMRIEIL @)L HmeL
QLITERHE L&D, METILD LINEELD

C himellor mieofliLjLo GLogveuulenr migsfliL|LD GILITHIHE L &ITLD,
GOOTITILD LIMEEL

D. BLAG(LOLD GLo6) @) &L SLDLAIN CLITHES LISTILD, IDSTJLD
L& @L0

@eummier iflwimers)

. A B,DLOL(HILD
2. A B,CLOL(HID
3. A CDIDL(HILD
4, B.C,DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307220009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QBTELGTLILILIGSHIE) CEFTEIMLILILL 61L& SIs6l 60T
LImULILmiger

A GLOMLIEEILD B EGALD DA QLITRHS EUGTILD LI EEL

B. BT 6Ul6iflLDL| 19 &L Liuellans) QBHMRIEIL @)L HmeL
QLITERHE L&D, METILD LINEELD

C himellor mieofliLjLo GLogveuulenr migsfliL|LD GILITHIHE L &ITLD,
GOOTITILD LIMEEL

D. BLAG(LOLD GLo6) @) &L SLDLAIN CLITHES LISTILD, IDSTJLD
L& @L0

@eummier iflwimers)

. A B,DLOL(HILD
2. A B,CLOL(HID
3. A CDIDL(HILD
4, B.C,DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307220010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WIMTLILIHMRISEVLD SnMILD LIMT6UEMEHEH6IT

A. GI6U6EDOTLIIT 2158 6)160)&H&H60)6IT 2_60)L_LLIG|

B. 2GS IWLILILIT [BITEOTE) 6L6DTHFHE0)6IT 2 60)L LIS
C. SEVILILIIT CLOGOT M)l 6L6MIEE60)6IT 2 60)L_LLIG)

D. 6UEHEILILIT 6TL_(H) 6UEHSHEMET 2 6ML LG

@)6UMHMIGT &IfILMeors!

I. A B, CLOL(hLD
2. B,C,DLOL(HID
3. A B DIDL(hLD
4. A C DLOL(hLD

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307220010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WIMTLILIHMRISEVLD SnMILD LIMT6UEMEHEH6IT

A. GI6U6EDOTLIIT 2158 6)160)&H&H60)6IT 2_60)L_LLIG|

B. 2GS IWLILILIT [BITEOTE) 6L6DTHFHE0)6IT 2 60)L LIS
C. SEVILILIIT CLOGOT M)l 6L6MIEE60)6IT 2 60)L_LLIG)

D. 6UEHEILILIT 6TL_(H) 6UEHSHEMET 2 6ML LG

@)6UMHMIGT &IfILMeors!

I. A B, CLOL(hLD
2. B,C,DLOL(HID
3. A B DIDL(hLD
4. A C DLOL(hLD

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307220011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



almEEIWLem] SFUFILEL Smflns 2 empuUmEILHD LML)
6T60T LI (@ QEFTEIRILILI(HILD STTF6uTTRgH6T

A 6llm&E) 2 eniley Sifleng CLomESHT6T SMLLLILIHERTMS)

B &Milens: 2 a0y GG 2 apeniud Flev @)L meafle
Gulizealeg

C. @\ Be)G6rTler 2 6nahelg )LD Liey GeummIcnILG6T & 66T,

D. BT lmd 2 6muev Breum G Iwilesr QLW @mlLiLme
GLLULIL (hemens.

@eummieT &l

. ACDLOL(HILD
2. B,C,DLOL(HID
3. A B CLOL(HID
4 A BDDL(HLD

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307220011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



almEEIWLem] SFUFILEL Smflns 2 empuUmEILHD LML)
6T60T LI (@ QEFTEIRILILI(HILD STTF6uTTRgH6T

A 6llm&E) 2 eniley Sifleng CLomESHT6T SMLLLILIHERTMS)

B &Milens: 2 a0y GG 2 apeniud Flev @)L meafle
Gulizealeg

C. @\ Be)G6rTler 2 6nahelg )LD Liey GeummIcnILG6T & 66T,

D. BT lmd 2 6muev Breum G Iwilesr QLW @mlLiLme
GLLULIL (hemens.

@eummieT &l

. ACDLOL(HILD
2. B,C,DLOL(HID
3. A B CLOL(HID
4 A BDDL(HLD

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307220012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BLOL SBLIQLITHET 2 60 Uileh GLOMGSHTEHESHTEL
LILLIGOTLI (& &L GILIM mu6TTerT & mleu S ELIMIGH6IT

A B\(HECEHMTEOIEULLITIT
B. LUM600TL G & Tem6)
C. S\meuTeRT CaTem6l

D. &HEHEMEFEUTEO0T60T CELITEME

@6UMDMI6T FifILITEOTS)

B,C, D LOL_(hILD
. A B, DLOL(KID
A B, CLOL(hID
. A C DLOL(hID

Options :
1.1
2.2
3.3
4.4

= L2 b2 -

Question Number : 117 Question Id : 53307220012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BLOL SBLIQLITHET 2 60 Uileh GLOMGSHTEHESHTEL
LILLIGOTLI (& &L GILIM mu6TTerT & mleu S ELIMIGH6IT

A B\(HECEHMTEOIEULLITIT
B. LUM600TL G & Tem6)
C. S\meuTeRT CaTem6l

D. &HEHEMEFEUTEO0T60T CELITEME

@6UMDMI6T FifILITEOTS)

B,C, D LOL_(hILD
. A, B,DLOL(hID
A B, CLOL(hID
. A C DLOL(hID

Options :
1.1
2.2
3.3
4.4

= L2 b2 -

Question Number : 118 Question Id : 53307220013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o). GG, 8. UL

A LML LI 6TeoTesiLD LigmesTLIGILILITIG) erpEILLIGT

B. GUGBOTL63T G510 SRIHAT 6T60T(Y) Bl & @) 60 EILIMIGE6T 6T(LDGBILIGLT
C GLOLITITLOMLIGEOT Q47 ITLLIEE) 616071 H6meD 6T(LDGILIGLT

D. BLODEGS 65 616018 HLOLIETILLD Bl HEU6TEHAIMTLLLD
BUSB6]

@eummI6T SIS

. A B CLOL(HID
2. B,C,DLOL(HID
3. A CDLOL(HID
4, A B, DLOL(HLD

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307220013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o). GG, 8. UL

A LML LI 6TeoTesiLD LigmesTLIGILILITIG) erpEILLIGT

B. GUGBOTL63T G510 SRIHAT 6T60T(Y) Bl & @) 60 EILIMIGE6T 6T(LDGBILIGLT
C GLOLITITLOMLIGEOT Q47 ITLLIEE) 616071 H6meD 6T(LDGILIGLT

D. BLODEGS 65 616018 HLOLIETILLD Bl HEU6TEHAIMTLLLD
BUSB6]

@eummI6T SIS

. A B CLOL(HID
2. B,C,DLOL(HID
3. A CDLOL(HID
4, A B, DLOL(HLD

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307220014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUTCITDMILI QLIMHET(LGHVEUTSL Srl (LD HHSHSIGH6T

A 2 V&ME ML SMILULILIELD QLITHEHLO B
mlsmeuuiley @)mESIesT e .

B FHPGITILILD S &L (hILOTEITLD GCLOMEL (HLOM6ITL 6T6BTE0ILN @) (T
91 LILIGHIL &606T8 QITeuT(h6Tera.
C. GUATTEFIBAT 6T60GTLD L06BT18 (LPLIMHENLITEL 6ll6maTTHE6meGIL

D. OGO &6rTl60T UITLADIEMEVELL ©_GHOTTT 6L G606
II6ooT LI S6T 6.

@eunmieT Flmeg)

. A B CLOL(HID
2. A CDIDL(hILD
3. B,C,DLOL(hID
4 A B DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307220014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUTCITDMILI QLIMHET(LGHVEUTSL Srl (LD HHSHSIGH6T

A 2 V&ME ML SMILULILIELD QLITHEHLO B
mlsmeuuiley @)mESIesT e .

B FHPGITILILD S &L (hILOTEITLD GCLOMEL (HLOM6ITL 6T6BTE0ILN @) (T
91 LILIGHIL &606T8 QITeuT(h6Tera.
C. GUATTEFIBAT 6T60GTLD L06BT18 (LPLIMHENLITEL 6ll6maTTHE6meGIL

D. OGO &6rTl60T UITLADIEMEVELL ©_GHOTTT 6L G606
II6ooT LI S6T 6.

@eunmieT Flmeg)

. A B CLOL(HID
2. A CDIDL(hILD
3. B,C,DLOL(hID
4 A B DLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307220015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QLN w6 LomEae)l

A LDIT@G6L1G &6IT 61607 EFIMLILILT QLILITTEL SI6MLGHELILIL LGOI
B. B60TL_[TTH\B&601160T LIL_L S8

C. @ITETE GEMLO60H 60T S{60T6mGOTLLITIT

D. QMG CaMelle)gHemerd Smmetlaena e(pLILIGS6T
@66 GFlLmeoTg

- AB.CIOL(HLD

A CDIL(D

- ABDIL(hID
- B.CDIOL(HID

2 b

e

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307220015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QLN w6 LomEae)l

A LDIT@G6L1G &6IT 61607 EFIMLILILT QLILITTEL SI6MLGHELILIL LGOI
B. B60TL_[TTH\B&601160T LIL_L S8

C. @ITETE GEMLO60H 60T S{60T6mGOTLLITIT

D. QMG CaMelle)gHemerd Smmetlaena e(pLILIGS6T
@66 GFlLmeoTg

- AB.CIOL(HLD

A CDIL(D

- ABDIL(hID
- B.CDIOL(HID

2 b

e

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307220016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@ GILJITE]
A Bl (N6 SL60T FTHISHMIHET FHLIHGHIGTT

B. QLITE I SimMUI6L L) QTAIGVEET CIGITL i SITTEmTLTS
Q]

C LI 215 G L Semsg QFWeLIH GG
D. BITMLAILE G(LEF FL_L 0SS QB TeaoT(HeBHST

@eunmeT FliLmeg

. A B CLOL(HID
2. B,C,DLOL(HID
3. ACDLOL(HID
4. A B DL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307220016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@ GILJITE]
A Bl (N6 SL60T FTHISHMIHET FHLIHGHIGTT

B. QLITE I SimMUI6L L) QTAIGVEET CIGITL i SITTEmTLTS
Q]

C LI 215 G L Semsg QFWeLIH GG
D. BITMLAILE G(LEF FL_L 0SS QB TeaoT(HeBHST

@eunmeT FliLmeg

. A B CLOL(HID
2. B,C,DLOL(HID
3. ACDLOL(HID
4. A B DL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307220017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUL GIL_(LDSHSIFHEH6IT

A GIEHTMIGHTLLG6V LIJEU6VITS @)([HHE6UT.

B. LIT6O0TIQ LT QEFLIGLI(HE GTHEEL I LILLIGOTLI(HGHSHI60TI] .
C. GEFMIGH6IT LAGHIWLTESL LILIGOTLIHGHSHCOTI].

D. LIM&sIT6V [H(h&M&6NIen GILITH)l8as LILIL_L 60T,

@eUMMI6T &IOS

I. A B CLOL(hID
2. B,C,DLOL(hILD
3. A B DLOL(KILD
4. A CDLWOL(HD

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307220017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QUL GIL_(LDSHSIFHEH6IT

A GIEHTMIGHTLLG6V LIJEU6VITS @)([HHE6UT.

B. LIT6O0TIQ LT QEFLIGLI(HE GTHEEL I LILLIGOTLI(HGHSHI60TI] .
C. GEFMIGH6IT LAGHIWLTESL LILIGOTLIHGHSHCOTI].

D. LIM&sIT6V [H(h&M&6NIen GILITH)l8as LILIL_L 60T,

@eUMMI6T &IOS

I. A B CLOL(hID
2. B,C,DLOL(hILD
3. A B DLOL(KILD
4. A CDLWOL(HD

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307220018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILPQILDIMLA] LIuGeLmI QILITH6T S(HeLSMEHITE0T ST [J600T MIS6I
A QUTEHEIL LDILISSLD

B. GLEMEHEMLOUI6TT G)LLI6VL

C GIEFTeV LOLLIGELD

D. GleuerflLiLm(h)

EeUmMIET Fflwmers

A CDIDL(ID

- A B, CLOL(HILD

3. B,C,D DL (hID
4. A B DLOL(HWD

[} —

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307220018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILPQILDIMLA] LIuGeLmI QILITH6T S(HeLSMEHITE0T ST [J600T MIS6I
A QUTEHEIL LDILISSLD

B. GLEMEHEMLOUI6TT G)LLI6VL

C GIEFTeV LOLLIGELD

D. GleuerflLiLm(h)

EeUmMIET Fflwmers

A CDIDL(ID

- A B, CLOL(HILD

3. B,C,D DL (hID
4. A B DLOL(HWD

[} —

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307220019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BILILILEMMEDIL S LILIL LGS Qb meunT(h) & (meungaLILI(pILD
Q{BSUH%BSGT

A LWDO&TTH)

B ufleuig 6l i)

C el i)
D. TG S

E. QIEFTEU6UTERS SIBITE)

@eummyeT sl

. A B CELLHLD
2. B,C,D,ELOL(HILD
3. A,CD,ELDL(HID
4 ABCDIOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307220019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BILILILEMMEDIL S LILIL LGS Qb meunT(h) & (meungaLILI(pILD
Q{BSUH%BSGT

A LWDO&TTH)

B ufleuig 6l i)

C el i)
D. TG S

E. QIEFTEU6UTERS SIBITE)

@eummyeT sl

. A B CELLHLD
2. B,C,D,ELOL(HILD
3. A,CD,ELDL(HID
4 ABCDIOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307220020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CEHFIL QLOMAQUWITILIS Sl L LD

A GBFIL Bl SymammUBHET o{lolmssee)
2 (HEUMGEHLILILL g

B GBI 2 lLIey Gngenglen oL meug Liflaley
LILIGLIGOIL LLIL (6T QLomAlEs6T Sjmanglgin
QLOMAQUIWITLIL] QeFLloug)

C QM) BIGUEHETHLD @LIBET QLOTEGUWITLL] Qe UWLLIHILD
D. L0160 SyeLDHSI6TONS)
@eummieT &flmes)

. A B CLOL(HID
2. B,C,DLOL(HLD
3. ABDIOL(HILD
4 A CDLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307220020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CEHFIL QLOMAQUWITILIS Sl L LD

A GBFIL Bl SymammUBHET o{lolmssee)
2 (HEUMGEHLILILL g

B GBI 2 lLIey Gngenglen oL meug Liflaley
LILIGLIGOIL LLIL (6T QLomAlEs6T Sjmanglgin
QLOMAQUIWITLIL] QeFLloug)

C QM) BIGUEHETHLD @LIBET QLOTEGUWITLL] Qe UWLLIHILD
D. L0160 SyeLDHSI6TONS)
@eummieT &flmes)

. A B CLOL(HID
2. B,C,DLOL(HLD
3. ABDIOL(HILD
4 A CDLOL(HID

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307220021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIQ U6V T LILIQULI6D T
FhIG @608 GG Qe QIR
A. QM&LD L QUITMEITEr
B. 2 G066 11 HHIGSH0
C. BIT6TTLD 1. (PG 1H& Ligk
D. CLOGHIT IV. QUEBESLD

GCL srLOUDmeTeTDMeOlmHE ST ellenLsmiLis
Qfley QFLG

l. A-IV,B-1,C-IL, D-III

2. A-IIL B-1V, C-I, D-II

3. A1V, B-1II, C-II, D-I

4, A-IL, B-1v, C-1, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307220021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIQ U6V T LILIQULI6D T
FhIG @608 GG Qe QIR
A. QM&LD L QUITMEITEr
B. 2 G066 11 HHIGSH0
C. BIT6TTLD 1. (PG 1H& Ligk
D. CLOGHIT IV. QUEBESLD

GCL srLOUDmeTeTDMeOlmHE ST ellenLsmiLis
Qfley QFLG

l. A-IV,B-1,C-IL, D-III

2. A-IIL B-1V, C-I, D-II

3. A1V, B-1II, C-II, D-I

4, A-IL, B-1v, C-1, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307220022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIG) | LILLQULIG T
SHTLLTGHIILD Em 0D
A. BTG L FoUnFHe OG0
B. [BI&L_L 6T 11 eV G
C. [HEUGAHITLL]. 11, L0600 GLOG 6TV
D. (LP6oT T 60T IV, GUEMGTLLITLIG)
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG
1. A-IV,B-II, C-II, D-I

2. A-ILB-IV,C-I, D
3. AL B-L C-IV, D-II
4. A-II, B-IIL, C-IV, DI

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307220022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIG) | LILLQULIG T
SHTLLTGHIILD Em 0D
A. BTG L FoUnFHe OG0
B. [BI&L_L 6T 11 eV G
C. [HEUGAHITLL]. 11, L0600 GLOG 6TV
D. (LP6oT T 60T IV, GUEMGTLLITLIG)
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG
1. A-IV,B-II, C-II, D-I

2. A-ILB-IV,C-I, D
3. AL B-L C-IV, D-II
4. A-II, B-IIL, C-IV, DI

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307220023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQULI6D 660TemmLI LILGULI6V @UeerGLIT(h GLIMH&SIS

LILIQ U6V T -
P EHTETEFLOLIBET CaHeUTTL LIL QUG T
LS L1 QL LIS (P60

A. B\[mibeVE6aOTLLI LIGIsLD 1 G6ulL| M1 GEMerTlLIMmI 60T

B. G&IT6T 1) LIGSLD 1L GUITLRE IGO0
C. B\mULITELD 11l HTHETHS HFIHS
D. [FLOGFEIGUMILIL] LIGIBLD V. Sl6U6 et Blelel6menT

G6L srLOUDmETeTDMIOlmHE Fwme alaL il
Q&6 QEFLS
I. A-IIL B-1,C-IV, D-lI
. A-IV, B-11, C-1, D-III
. A-1 B-IV, C-IIL, D-II
. A-IV,B-[, C-11, D-III

S LS ] |

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307220023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQULI6D 660TemmLI LILGULI6V @UeerGLIT(h GLIMH&SIS

LILIQ U6V T -
P EHTETEFLOLIBET CaHeUTTL LIL QUG T
LS L1 QL LIS (P60

A. B\[mibeVE6aOTLLI LIGIsLD 1 G6ulL| M1 GEMerTlLIMmI 60T

B. G&IT6T 1) LIGSLD 1L GUITLRE IGO0
C. B\mULITELD 11l HTHETHS HFIHS
D. [FLOGFEIGUMILIL] LIGIBLD V. Sl6U6 et Blelel6menT

G6L srLOUDmETeTDMIOlmHE Fwme alaL il
Q&6 QEFLS
I. A-IIL B-1,C-IV, D-lI
. A-IV, B-11, C-1, D-III
. A-1 B-IV, C-IIL, D-II
. A-IV,B-[, C-11, D-III

S LS ] |

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307220024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

@@@#ﬁgg?ﬁ[amu Mﬁﬁéﬁ‘é&m
A 20TFLLIG L [HeREFLLITT
B. 60T LIBGTTUTLILIG 1L QU IWLIGUITERFITEOT LilaiTemelT
¢ Lioresf mudlLiing 11 SHSHGHEmEL Ll
D. QLGS HIOTUITULLY | 1v. LI LDFTeUT6TELLIT

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

. A-IIL BT, G-IV, D-I
2. AL B-LC-IV, D-II
3. A-L B-IIL, C-IL D-IV
4. A-IV, B-IIL, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307220024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

@@@#ﬁgg?ﬁ[amu Mﬁﬁéﬁ‘é&m
A 20TFLLIG L [HeREFLLITT
B. 60T LIBGTTUTLILIG 1L QU IWLIGUITERFITEOT LilaiTemelT
¢ Lioresf mudlLiing 11 SHSHGHEmEL Ll
D. QLGS HIOTUITULLY | 1v. LI LDFTeUT6TELLIT

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

. A-IIL BT, G-IV, D-I
2. AL B-LC-IV, D-II
3. A-L B-IIL, C-IL D-IV
4. A-IV, B-IIL, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307220025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LG 1 LIL LG T
bTL L0 BTL& 4Gy
A. CoLEmGUEEITIS] L (LD (G600 D)
B. LOGWILO@LLD 1. @BBIIT LUTJHSFTIE)
C.[BEUTLI HTD& 6N 11, &) 61607, SYGHOTC0OTITE 60
D. [BE&60 &6 v, G mLoey FmLApmEH6T

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

[. A-II, B-IIL, C-I, D-IV
2. A-IV,B-IL C-I, D-NI
3. AL B-L C-IV, D-II
4. A-L B-IV, C-IIL, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307220025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LG 1 LIL LG T
bTL L0 BTL& 4Gy
A. CoLEmGUEEITIS] L (LD (G600 D)
B. LOGWILO@LLD 1. @BBIIT LUTJHSFTIE)
C.[BEUTLI HTD& 6N 11, &) 61607, SYGHOTC0OTITE 60
D. [BE&60 &6 v, G mLoey FmLApmEH6T

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

[. A-II, B-IIL, C-I, D-IV
2. A-IV,B-IL C-I, D-NI
3. AL B-L C-IV, D-II
4. A-L B-IV, C-IIL, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307220026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUWA 1 LI G L6V 11
L@W %@muﬂ | GTLD

A. &)\ TOT G ITLOGHT L DlgSILIs 06|

B. 6TL0.6 QeUMIGL_[ITLD 1L S (L6TOTLTTTEL(h)

C. & FHNEHITLD . & Wigeaem

D. G(ehene LilTaTe. 1v. Geurflel L& Lieur
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

|. A-IIL B-1,C-IV, D-II

2. A-IV,B-IL C-I, D-NI
3. A-IL B-IV, C-1IL, D-1
4. A-L B-IIL C-I1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307220026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUWA 1 LI G L6V 11
L@W %@muﬂ | GTLD

A. &)\ TOT G ITLOGHT L DlgSILIs 06|

B. 6TL0.6 QeUMIGL_[ITLD 1L S (L6TOTLTTTEL(h)

C. & FHNEHITLD . & Wigeaem

D. G(ehene LilTaTe. 1v. Geurflel L& Lieur
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

|. A-IIL B-1,C-IV, D-II

2. A-IV,B-IL C-I, D-NI
3. A-IL B-IV, C-1IL, D-1
4. A-L B-IIL C-I1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307220027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILIQUIGY 6pamemmLl UL LQLLI6) @sirCLIT(p GLMmEHSI6

LILIQIL) | LILLQULGY 11
lement @L?smm
- L 2ADEEM CEEHIL
gl @uareiomdl g gin
11 GITG0GNT, WG, GHen T50r(D
B, QoL & CHMGITT &L @10 APGUSHE
DlsmEULLILD
0o 0 i gﬁ%gw% SPAIDLIMGEHE)
- IV, QBTN G
BB CETOE QLIS
B0 spLEUDmeTeTnIEmhS! FFiwmar clmLamig
0&Ifley QFLS
I. AL B-IV, C-I, D-II
2. AL B-IIL C-IV, DI
3. A-L B-IV, C-1II, D-II
4. A- 1V, B-IIL C-I, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307220027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILIQUIGY 6pamemmLl UL LQLLI6) @sirCLIT(p GLMmEHSI6

LILIQIL) | LILLQULGY 11
lement @L?smm
- L 2ADEEM CEEHIL
gl @uareiomdl g gin
11 GITG0GNT, WG, GHen T50r(D
B, QoL & CHMGITT &L @10 APGUSHE
DlsmEULLILD
0o 0 i gﬁ%gw% SPAIDLIMGEHE)
- IV, QBTN G
BB CETOE QLIS
B0 spLEUDmeTeTnIEmhS! FFiwmar clmLamig
0&Ifley QFLS
I. AL B-IV, C-I, D-II
2. AL B-IIL C-IV, DI
3. A-L B-IV, C-1II, D-II
4. A- 1V, B-IIL C-I, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307220028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

@&)Er;ﬁnmﬁbd][m& LG R -
QETOLUHHTTHHI %gﬂg& ﬁﬁﬂ%ﬁ%
LOLDE Q& &6
GGG HLOLD QL QBT
A. (LD&6V L ((PEGILLD
B. 2 IO\ T6) 11 @) CUE TGN
C.@mg 11 ITJ&LD
D.GILIL Iv. 1)
&G srUCLnmeTETDNEImhS) FFLTET alamLmiLg
Qafley Q&G
I. A-NI B-1V, C-I, D-II
2. A-IL B-IL C-IV, DAl
3. A-IV,B-I, C-I1, D-III
4, A-lll, B-1,C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307220028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

@&)Er;ﬁnmﬁbd][m& LG R -
QETOLUHHTTHHI %gﬂg& ﬁﬁﬂ%ﬁ%
LOLDE Q& &6
GGG HLOLD QL QBT
A. (LD&6V L ((PEGILLD
B. 2 IO\ T6) 11 @) CUE TGN
C.@mg 11 ITJ&LD
D.GILIL Iv. 1)
&G srUCLnmeTETDNEImhS) FFLTET alamLmiLg
Qafley Q&G
I. A-NI B-1V, C-I, D-II
2. A-IL B-IL C-IV, DAl
3. A-IV,B-I, C-I1, D-III
4, A-lll, B-1,C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307220029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQ L6 6p60memmLI LILIQULIG) @peRTCLIT(H GBS

LU T | .

Glamie] LniL Sy LLGL & LILIQUIG 1

BTG EEGT BImeTTLIe] (pson

A. QERILEOSE FOAUILEHEE S |
QBTN ECETIT 66T HEHCLT 1 6LILTL (D& BlmenTmiile)
FRLLLITE @56 5608

B. GRusEILEBIDEIL - '
@LSBImaILLD LmElaaiLLD . UHUUL(@@mM’
2i@LomelLILIg) Binamia)

C. QeBIWmGERHEHmLGWL 2 66 | |
GETMILILL, GoumiLIL L L&A (LPEDNE SIM6ITTILRY
LIGOTL|GamelTL LITIFLILIS)

D. @ABHILIGHIAT elleTdEHmGEmATLL v BT HLommg
SANEHADDBMETLD LTI |~ G
0606) GAUITHLD GTATLIE) BimarmLl

BGlp LQuDmaTeTaUnlelmbS) Efiumar alan.amiis

0&1la) QFLs
. A-LB-IL C-IV, D-II
2. A-V,B-IIL C-IL, D-1
3, AL B-IV, C-L DI
4, AJILB-LC-II, DAV

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 53307220029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQ L6 6p60memmLI LILIQULIG) @peRTCLIT(H GBS

LU T | .

Glamie] LniL Sy LLGL & LILIQUIG 1

BTG EEGT BImeTTLIe] (pson

A. QERILEOSE FOAUILEHEE S |
QBTN ECETIT 66T HEHCLT 1 6LILTL (D& BlmenTmiile)
FRLLLITE @56 5608

B. GRusEILEBIDEIL - '
@LSBImaILLD LmElaaiLLD . UHUUL(@@mM’
2i@LomelLILIg) Binamia)

C. QeBIWmGERHEHmLGWL 2 66 | |
GETMILILL, GoumiLIL L L&A (LPEDNE SIM6ITTILRY
LIGOTL|GamelTL LITIFLILIS)

D. @ABHILIGHIAT elleTdEHmGEmATLL v BT HLommg
SANEHADDBMETLD LTI |~ G
0606) GAUITHLD GTATLIE) BimarmLl

BGlp LQuDmaTeTaUnlelmbS) Efiumar alan.amiis

0&1la) QFLs
. A-LB-IL C-IV, D-II
2. A-V,B-IIL C-IL, D-1
3, AL B-IV, C-L DI
4, AJILB-LC-II, DAV

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 53307220030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIGUIG | LILIQULIGY 1

55 ST S(HEEEGMET GaueLILIHGHIL
SAMEHTERGT
A. GFTVSIHGELD GILIMHERSHGLD
2 616 2_meleiflsiT 1 LIV 1. GLOGET
QLOWIEHLDEMIL AlleTah BRI

B. UL LIL6Bl(515:8! Lisualene
CHTEHEIL @)(L1e HLOGITET
AT 2yl L6 L eLylLT
CHMET MIGHEGIL SHITF6wTD
GTGOT G
C. (HSLHLOMETLD QLM

QLI lanr Gl Gﬁ%@
2 GTERLD LIM(PLD 62
GBL6)ITLD 6T60TIN SHHSHGE
L IQ ILIQIT

D. QEH6TENE 6T60T LIS G\ 6TEm -
2TGSTEHAD @) mHEME | v, CITeVTEaT LIS
GTGOT ()G

111 GILITIQ GOTIT6T Q. &G

GG srLeLDyETTNMIlmhE srlwmer almLeniug
Q&6 QEFLS

[. A-LB-IL C-IV, D-II
2. A-IIL B-1V, C-II, D-I
3. A-IV,B-II, C-I, D-INI
4. A-II, B-I, C-IIL, D-IV

Question Number : 135 Question Id : 53307220030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIGUIG | LILIQULIGY 1

55 ST S(HEEEGMET GaueLILIHGHIL
SAMEHTERGT
A. GFTVSIHGELD GILIMHERSHGLD
2 616 2_meleiflsiT 1 LIV 1. GLOGET
QLOWIEHLDEMIL AlleTah BRI

B. UL LIL6Bl(515:8! Lisualene
CHTEHEIL @)(L1e HLOGITET
AT 2yl L6 L eLylLT
CHMET MIGHEGIL SHITF6wTD
GTGOT G
C. (HSLHLOMETLD QLM

QLI lanr Gl Gﬁ%@
2 GTERLD LIM(PLD 62
GBL6)ITLD 6T60TIN SHHSHGE
L IQ ILIQIT

D. QEH6TENE 6T60T LIS G\ 6TEm -
2TGSTEHAD @) mHEME | v, CITeVTEaT LIS
GTGOT ()G

111 GILITIQ GOTIT6T Q. &G

GG srLeLDyETTNMIlmhE srlwmer almLeniug
Q&6 QEFLS

[. A-LB-IL C-IV, D-II
2. A-IIL B-1V, C-II, D-I
3. A-IV,B-II, C-I, D-INI
4. A-II, B-I, C-IIL, D-IV

Question Number : 136 Question Id : 53307220031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LG 1 LILLQULIG T

LLLUID Qeuerudl L eyyeeir
A. G{JBI6D LILL_LILD L @6WTLITLD [BIH&HI6LT LG
B. G JL0 LIL L (LILD 11 CLOGITDITLD [IHGIULOGHT

C.2 HEWHGITLI LI LD 111, LI GLOG LTI LOGHT

D. (GUGYITTY LITem6IILILI LIL_L LLILD d&%ﬁ&%ﬂﬁm

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

. A-IIL BT, G-IV, D-I
2. A-IV,B-IIL, C-L, D-II
3. A-IL B-l, C-II, D-IV
. A-L B-IV, C-II, D-III

Options :
1.1
2.2
3.3
4.4

N

Question Number : 136 Question Id : 53307220031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LG 1 LILLQULIG T

LLLUID Qeuerudl L eyyeeir
A. G{JBI6D LILL_LILD L @6WTLITLD [BIH&HI6LT LG
B. G JL0 LIL L (LILD 11 CLOGITDITLD [IHGIULOGHT

C.2 HEWHGITLI LI LD 111, LI GLOG LTI LOGHT

D. (GUGYITTY LITem6IILILI LIL_L LLILD d&%ﬁ&%ﬂﬁm

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

. A-IIL BT, G-IV, D-I
2. A-IV,B-IIL, C-L, D-II
3. A-IL B-l, C-II, D-IV
. A-L B-IV, C-II, D-III

Options :
1.1
2.2
3.3
4.4

N

Question Number : 137 Question Id : 53307220032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIQ U6V 1

. LILIQULI6D 1
HIh60)d IDG60T
A. GJIGNVGIBITE, [HTLISS] L (P& EIeiTLILI BTG
B. (NG B\ me LU 1L @G0 (G SiefyLIL
BTWLUGE] BTG

C. QFTHSHHTS HTILGGE] 11, G961 6B0TLILI [BITILIEH (]

D. BI[HLOGNE) [BITILIEREI] @%&’ﬂmﬁmgﬁm@w
G6L srLQUDmETeTeDMeOlmHSE Ffwme elamLemiLs
Qfley CFLG

|. A-L B-II, C-III, D-IV
2. A-IIL B-1V, C-II, D-I

3. A-IV, B-IIL, C-L, D-I
4. A-IIL B-1,C-IV, D-II
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 53307220032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LILIQ U6V 1

. LILIQULI6D 1
HIh60)d IDG60T
A. GJIGNVGIBITE, [HTLISS] L (P& EIeiTLILI BTG
B. (NG B\ me LU 1L @G0 (G SiefyLIL
BTWLUGE] BTG

C. QFTHSHHTS HTILGGE] 11, G961 6B0TLILI [BITILIEH (]

D. BI[HLOGNE) [BITILIEREI] @%&’ﬂmﬁmgﬁm@w
G6L srLQUDmETeTeDMeOlmHSE Ffwme elamLemiLs
Qfley CFLG

|. A-L B-II, C-III, D-IV
2. A-IIL B-1V, C-II, D-I

3. A-IV, B-IIL, C-L, D-I
4. A-IIL B-1,C-IV, D-II
Options :
1.1
2.2

3.3
4.4

Question Number : 138 Question Id : 53307220033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LIL LG Ll6) 1 -
CmLomesL STEE6T FleL &5 LILLG L6V 1
@LLD OMeUL_L_LD
A. 6866060l L S\BEE]T
B. SULILDLIGST] 1L G&HTLLILILD
C. @LILIG 111 66U 6L
D. LLEh&T IV LOGI6n)

G6L srLOUDmETeTDMIlmHE Fwme alaL il
Q&6 QEFLS
I. A-IIL B-1V, C-I, D-II
. A-L B-IV, C-IL, D-1II
. A-IIL B-1, C-IV, D-I
. A-IV,B-1II, C-1, D-II

S LS ] |

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307220033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LIL LG Ll6) 1 -
CmLomesL STEE6T FleL &5 LILLG L6V 1
@LLD OMeUL_L_LD
A. 6866060l L S\BEE]T
B. SULILDLIGST] 1L G&HTLLILILD
C. @LILIG 111 66U 6L
D. LLEh&T IV LOGI6n)

G6L srLOUDmETeTDMIlmHE Fwme alaL il
Q&6 QEFLS
I. A-IIL B-1V, C-I, D-II
. A-L B-IV, C-IL, D-1II
. A-IIL B-1, C-IV, D-I
. A-IV,B-1II, C-1, D-II

S LS ] |

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307220034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIA) | LIL QUG T
OIBLIEMmIERGT QLIHELLGSETE LIEH)

A. GrL_6DGULDITL 6T L FFG(h)

B. TG ITLLIGOT 1L S\mEHeVEe60

C. SRS SLOL0GHT i1, HHEe

D, (LGafIlLILILI6T Iv. STEFLTLD
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

|. A-IL, B-III, C-I, D-IV

2. AL B-IL, C-IV, D-1
3. A-IV, B-IIL, C-L, D-I
4. A-II, B-IIL, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307220034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIA) | LIL QUG T
OIBLIEMmIERGT QLIHELLGSETE LIEH)

A. GrL_6DGULDITL 6T L FFG(h)

B. TG ITLLIGOT 1L S\mEHeVEe60

C. SRS SLOL0GHT i1, HHEe

D, (LGafIlLILILI6T Iv. STEFLTLD
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

|. A-IL, B-III, C-I, D-IV

2. AL B-IL, C-IV, D-1
3. A-IV, B-IIL, C-L, D-I
4. A-II, B-IIL, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307220035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIG) 1 LILLQULIG T
BB GG B0 GLwy
A. L&l @)&Lp L QWM&
B. S6l60% @)L 1L @60 CLIT6of]
c. Fmieuy @&Lp 11, GLIGTOT6H0T s 6T
D. QLGS @QFLP 1v. 26m0le
G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG
I. A-IV, B-II, C-III, D-I

2. A-L B-IIL C-IV, D-II
3. A-IV, B-1, C-IIL, D-I
4. A-II, B-IIL, C-IV, DI

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307220035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LILLQUI6D 660TemmLI LIL GULI6V @renarGLIT(h GLIMH&SIs

LLIGUIG) 1 LILLQULIG T
BB IS @)D Gl
A. L&l @)&Lp L QWM&
B. S6l60% @)L 1L @60 CLIT6of]
c. Fmieuy @&Lp 11, GLIGTOT6H0T s 6T
D. @)LLIG& @)L 1v. 26m0le

G6L srLaUDoETeTDMIOlmHSE Ffwme elaLemiLg
Qafley CFLG

I. A-IV,B-II, C-III, D-I
2. A-L B-IIL, C-1V, D-1l
3. A-IV,B-1, C-IIL, D-II
4. A-I1, B-IIL, C-IV, D-I
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072783
Question Shuffling Allowed : No

Question Id : 53307220036 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



&G rUCQUMmMIETET LIGSIUled (B8l (nSHev euemyuileurme el e M&hs @hs &
aflen L 658 6 DS M) LI 60 60T W, [T
&) LM 60T WO\ J60T 58 ([HEOOTLITLD - 2| MIG
ST 6llem6TWT(h GUITHITLD
QIFMLILIEOT BITGIL_60TM &L_[THMT(H - MG,
GBLDHSEU T LLIMEUTEHELD GLITHEUEMS
&\(1H LD6m 60T LI &1 QSIT6TemEITL T GLIMTIESLILICY — @) &l
eruLIMmeoflLL &b &L 6016 WIMGSHenILIGLIMTLD
GeUm6Tle|m LOMUGNTT LIGVF&SL 696D — BITLD
LBGMRLD [HLOCLTT SIIHLDL] (LP6OTG60T
IIBIHHIT Hevll GEVITIT @66 JE6DT — [HLDETI LD
9|60TQILIM(H FH600T(H60 [ QFILIG) (H6uMeoT
LDEOTEOTEU60T (LNEHSLAL QIL(LPLILN L G6) - 2j6) 60T
LDEGOTENILL|LD 6T(LRIHEMIG Gl BHI (D6 MT6iT
618 &ITEV (LN LDGILICH LOSILPEFRILIMIGCSE -
ETEURUEMES HEIMEVLL|LD GLIMIHLOCV6m6Y
LI&@&6Ud CHUTemeD HITE L LIGLITLD - MG
LI &I6m 06N HletoreordFlen 26fl&HEIL_Gel
@\6oTe0T(Lp FHHSHE! GHITTELD - [HLOENLD
GuimeumesT cll(R6Nl&S QIHLOGTELD
(5601608 [J&60Tl6mL UMLPIHH(HGEUITLD - [HLOEHLO
BN BEHI(H LD CLILIMIE 6UTITES
GLDIHE0) S&H6IT GUTLRHGBI(H LD LIL_L 6001 IS T600T — 2 hlG
GapImeuLIH S WMl M @& (LW (HETOTLITLD
SILOGEL QLITEOT(PLY. WITEFGHETITLD - 2601
9| TH6MH GLOH&6T GLITLDEMLOGILIGVITLD
QFHEGHIT 6LFJME0TE Q& MeOTMIL_G6l - MG
FmIem G&6V6LITLD Grl_[TLO6TON GUITET
FIHCHIT 61 HGIL 60T GIEMIGHENGVILD - 3|L_60L_&
&TEM6ITLL|MI GI& 00T L_MIEG, LDEMET &L_(HG6 MDD
&eiTermell a1 19601 L|GHHIL_ 6l - culf
SIT600T LI H6LITeUM S GIFLIH(HIGEUITLD - 62!
Lileitemett ] LTSNS @LLHHET! - BT
LileoTamIL0Nb [HlemsuGILIm GeuenorieGIT?
GLPIHE0) &S GITITL_L_SHH60T H6T606UGILIGVEVITLD — 2 H%H
GHITEVLIHEOT GOTITL_LY 60L& SHITevorLiGT
@\LDIHSIH6L 60l60TLIMIGET LOL @&meVTLD - By
JEHHT SHHLIENET HEH ] DU&HGH

Sub questions

Question Number : 141 Question Id : 53307220037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LO6DIGOTES 61T 6T6UMMIT6V &L L LILIL L 60T 2

1. MG
2. 9L 6DL_HSITET
3. 600T600TLD
4. QUITET
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307220038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GLI(H6UMEMUL 2J6/fld@ELD [BITL_LQ60T G LILIT

GrL_JIBIM(h)
SIbSHEUBIT(h)
eruLImeoflw [HIr(h)
B&IT6V MHE0T6E0T MT(H)

P Wb -

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307220039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)6IMeU &6 WIITI?

1. GHLPIHENGHE6EIT
2. SILPHIL QILIT6EOT(LOLY.
3. LDEDY6OTRN]
4. QILITLDEOLNG6IT
Options :
1.1
2.2



3.3
4.4

Question Number : 144 Question Id : 53307220040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)\60T6EOT(LATIMDE HIGT TEOTSI?

I O60TL]
2. Goby
3. (DSHBD
4. 2 Uiy

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307220041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&b I6UT 66T M(HILD @)L LD

I &BSHIGUBT(H
2. GIOLIMGDT LIS &5L_6V
3. @516V BIT(hH)
4. SMLICD6EOTWLT

Options :

1.1

2.2

3.3

4.4

Question Id : 53307220036 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



&G rUCQUMmMIETET LIGSIUled (B8l (nSHev euemyuileurme el e M&hs @hs &
aflen L 658 6 DS M) LI 60 60T W, [T
&) LM 60T WO\ J60T 58 ([HEOOTLITLD - 2| MIG
ST 6llem6TWT(h GUITHITLD
QIFMLILIEOT BITGIL_60TM &L_[THMT(H - MG,
GBLDHSEU T LLIMEUTEHELD GLITHEUEMS
&\(1H LD6m 60T LI &1 QSIT6TemEITL T GLIMTIESLILICY — @) &l
eruLIMmeoflLL &b &L 6016 WIMGSHenILIGLIMTLD
GeUm6Tle|m LOMUGNTT LIGVF&SL 696D — BITLD
LBGMRLD [HLOCLTT SIIHLDL] (LP6OTG60T
IIBIHHIT Hevll GEVITIT @66 JE6DT — [HLDETI LD
9|60TQILIM(H FH600T(H60 [ QFILIG) (H6uMeoT
LDEOTEOTEU60T (LNEHSLAL QIL(LPLILN L G6) - 2j6) 60T
LDEGOTENILL|LD 6T(LRIHEMIG Gl BHI (D6 MT6iT
618 &ITEV (LN LDGILICH LOSILPEFRILIMIGCSE -
ETEURUEMES HEIMEVLL|LD GLIMIHLOCV6m6Y
LI&@&6Ud CHUTemeD HITE L LIGLITLD - MG
LI &I6m 06N HletoreordFlen 26fl&HEIL_Gel
@\6oTe0T(Lp FHHSHE! GHITTELD - [HLOENLD
GuimeumesT cll(R6Nl&S QIHLOGTELD
(5601608 [J&60Tl6mL UMLPIHH(HGEUITLD - [HLOEHLO
BN BEHI(H LD CLILIMIE 6UTITES
GLDIHE0) S&H6IT GUTLRHGBI(H LD LIL_L 6001 IS T600T — 2 hlG
GapImeuLIH S WMl M @& (LW (HETOTLITLD
SILOGEL QLITEOT(PLY. WITEFGHETITLD - 2601
9| TH6MH GLOH&6T GLITLDEMLOGILIGVITLD
QFHEGHIT 6LFJME0TE Q& MeOTMIL_G6l - MG
FmIem G&6V6LITLD Grl_[TLO6TON GUITET
FIHCHIT 61 HGIL 60T GIEMIGHENGVILD - 3|L_60L_&
&TEM6ITLL|MI GI& 00T L_MIEG, LDEMET &L_(HG6 MDD
&eiTermell a1 19601 L|GHHIL_ 6l - culf
SIT600T LI H6LITeUM S GIFLIH(HIGEUITLD - 62!
Lileitemett ] LTSNS @LLHHET! - BT
LileoTamIL0Nb [HlemsuGILIm GeuenorieGIT?
GLPIHE0) &S GITITL_L_SHH60T H6T606UGILIGVEVITLD — 2 H%H
GHITEVLIHEOT GOTITL_LY 60L& SHITevorLiGT
@\LDIHSIH6L 60l60TLIMIGET LOL @&meVTLD - By
JEHHT SHHLIENET HEH ] DU&HGH

Sub questions

Question Number : 141 Question Id : 53307220037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LO6DIGOTES 61T 6T6UMMIT6V &L L LILIL L 60T 2

1. MG
2. 9L 6DL_HSITET
3. 600T600TLD
4. QUITET
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307220038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GLI(H6UMEMUL 2J6/fld@ELD [BITL_LQ60T G LILIT

GrL_JIBIM(h)
SIbSHEUBIT(h)
eruLImeoflw [HIr(h)
B&IT6V MHE0T6E0T MT(H)

P Wb -

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307220039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)6IMeU &6 WIITI?

1. GHLPIHENGHE6EIT
2. SILPHIL QILIT6EOT(LOLY.
3. LDEDY6OTRN]
4. QILITLDEOLNG6IT
Options :
1.1
2.2



3.3
4.4

Question Number : 144 Question Id : 53307220040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)\60T6EOT(LATIMDE HIGT TEOTSI?

I O60TL]
2. Goby
3. (DSHBD
4. 2 Uiy

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307220041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&b I6UT 66T M(HILD @)L LD

I &BSHIGUBT(H
2. 6IOLIMenl LIS &L _6V
3. @516V BIT(hH)
4. SMLICD6EOTWLT

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 533072784
Question Shuffling Allowed : No

Question Id : 53307220042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)



Question Label : Comprehension

GG HrUQUMHMIETT LGS uNed(BHe! (WnHev euenyudleu e

e masEnsE allenl wWefldHsean

6I606VIME  HTVGL L SDeneE SIS @eSHILL LiehL LILISEH&HEGLD
(LPGGOTEOLD LILLIGDTIT60T @)6VEGILL @6dTLIGLD (INSHIEH gD GILIMEeU6BOI(HLD.
AHEHMLGDHND LML UNWSESSH)  LenLLlumefl — @engeul
@6VESES  QGHITETY LIMIGEITET.  @eNGLI  Lim&&etollsh g6l (b,
06T LILGTH6T6) HeUeTD GF6ISHEIS FHMGHEMIL 2 6H0TLIS)
GLIMeTMGS. LienL LILIMTILN60T 6T(DGHI60, SI6U60T 6UTRLTMHMY 2 6ooTell6oT
LISQ&HET @H&EH600 FabiD. LenL LT Sam&CarTh o8 @ el mé
HOHHMHEGL. LEDMILILISS () GUTETHM  IL6U6NITLD  6T60TsID
LDWSHSHLD G607 USSSHMHEH CHTHMID QSHMETHEIMS. 1904 @6y
LUSDOMILISE  FFTHSHD  HOoILCUME, LUHSHD  (IpSHHILSHEIILD
QUeilbeney. 2Ll LITHIG6T  eeudHleor  FflLmer LML &Heng
IMBEHOHTEMET,  GQUMMHENETEH — QHeMHEQSHTET6TL  CL(mSH6
LbSTEID,  pelILIEH&HEeT  HLILSSSHHON G600 606,
o mJLILIT&HSBEaTT LenL L6 &Ml aUTGRLILG Q&TLITLIME0T6m6L.
@B UMALL  QeleIGaIm  &HTemiseme)  HaBLPHSHSHSHSHEHILD.
UBIHIL USHINEG @ Lmipll 2 NI Gbhesl GLLmW 2 6ni
12 9D BIHOTEsIyNHE&L Leor Camernllmed Coustoi(hh. E@hs
o iy GUIUUILLU@GL CHABTGID 12 WD BIHMTEoTenL &
FIHSHE. * QAIQGITH Q&6 LD SenHSI6TeT lenm,
GLEBOTE00T LD, 5, QUG T6OTLIEN6) S6TT o auileveus
eLpeULILITE\&6Tl6)  6T6DAVMID @) MESHE0ET Sjemel 2 amIWMRRLITTEY
6TLDGLILIL L 60T6U6D6VGI66EOTMILD WIGUTERILITE6TTEAVIT
QBTG ESMITGET IR LILIL_L 60TEI6UE0TMILD, LI\ &I 6T
o JLILITE&6Te) LR  STeooTlLGSTMENLOWTE)  SjeuMHenm
@QuMmMleTTy  HITARWT 266D  elermild  QFHHGHeoTment”
o Caramaprenswy (W& UHLILT  epeudms  CoumiLbiEHs
ST WETETCHTH USSP  INSHILSSIUD G606 L0nILIL|LD
QEETEUTEHE &L LQ WIGTETITIT. 1941 @6V GQl6u6ITILIMET eLAGSTMMeL &l LIS L6
o CLHT. ST  Dlemeumienl,  WMHMIE  C&TeoT(heTemend
o EUIIPROTME.  UITHMIF  QFWLGHGHM6T  8IHGHIL L IT6)
LISMMILILIGH60 Gl ) 6T60T60T 2 6T6T8 6T60Te0ILN 66N 6TL08 Fan(BILD.

Sub questions

Question Number : 146 Question Id : 53307220043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[BLOLIGH & SH60T60LD GISHIT600TL_Si

. su@l(zm
2 g,q&&ru

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307220044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GBLAIBITSLD 6T(LRIHG SITEVLD

1. 11 &0 BITMMTeoor(h)
2. 12 94D BITMHMT6ooT(h)
3. 13 Q41D BITMHMITEoT(h)
4. 19 LD HITMHMIT6o0T(h)

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307220045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)L LiemLLILN60T (LNG&60T6mLOL LILLIGOT LLITSI?

QUGN © 6UoT 6
. ©)6VSBIL @)60TLILD
GULDGSIT M AMIGH6V
2{TFILIVMIGH6

e e B

Options :
1.1
2.2



3.3
4.4

Question Number : 149 Question Id : 53307220046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LISFHMmIG606T 6B [HES eUMUILILN6LEVITE LT

L USLmSIflwy

2. QBTG IWIT
3. eLpeV 9 Sl

4. @ eI WIMTASIwT

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307220047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LIS\ MILILIGH 608 6UTEVITDM! 266N HITL (H6)S)

. CLAGULD
2. 2600
3. S0
4. UGHGLD

Options :
1.1
2.2
3.3
4.4

Question Id : 53307220042 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



&ECp srUQUDMETT LGS NN HHS! (WHe auenyudeu e

e m&sEHsE allenL wWefldsa)n

6T6UGUME  BITELVGBL L SHen6id FIHES @6uSHHILL LienL LULSHEHSHELD
(LDG60TENLD LILLIGOTITEN @6V @60TLIGLD (P& FIG &R QILIMG6)6GOT(HILD.
HHMLHHAAD  LemLlIWsEsHsESe)  ueLlumdl — @engw
@6VHEEMHRS QBT LIMIGTT. @&l LiméseuollshgieilL (b,
B0 LILLGOTSHETE) HeNeID CF6ISHII6IE FHNSHENIL 2 6O0TLIG)|
CUIMeTmE. LenLLILmerfluiledr erpd&iel, Sl6u6dT aUIeMTH) & 6uor[eileor
LIGeY &6l @\m&&H60 Snbih. LenL LI SamisbGerih &8 @)\JeirLms
HOBBHHHGL. UHDMNLSE @ UILTDHHOI ShEUETD  CT6TFILD
LDW&HSHLID G601 USHSESH0MmHEH CHTHMID QHMeTHRIMEL. 1904 @6
LUSDMILILGSH SFFTHSID ST CUMS, LSHHD  (PHEHILGHOILD
QuMellebemney. 2 empll  LITEH&H6ET  elpeudEHier  FWLIMeT LML &Heng
INBEOSHTET,  QUTHEETEH — Q&MHHOSMETeTL  GLIHSH6
LHBSTaID,  epelItITHGEeT  BIILIGSHSHEENLD  GE L 606Y.
o ULITHSHETT LenLLILil6oT LHMeT TG QGHITLITLITETEnEL.
@be MFLL  QeueuGeum  &HMemi&6fls)  HlaPHEHHES S bILD.
UBIHIL USSHINEG @ Ll 2 NI Gmhssl QLW 2 6ni
12 QD BIHOTeyH@&L Ller CHmeaorlimesd Couami(hh. E@hd
o ewley GUILUILLUEDL CHWBMGLD 12 QD BIHMITET6nLE
FIIHSE. * 66UC6UMTH CFLIL6fler Llerein Slennbai6ier glenm,
6L EDOT600T LD, S5HG), QUG 6ATLIEN6) S6T 2 MJULI6V6ITS
eLpeULILITEIG6IT6D  6T60AVITID @) (HESHE06T  Sjemed 2 mIWTAFLITTEY
6ILDSLILIL L 60T616D60GI6U60TMILD BTGV THETTEEVIT
Q&G ESMTTEET LRSS LILIL_ L 6OTGIGUEOTMILD, LI &I 6iT
o LILITEHSEET6)  LHID  STesTULHSTENLOWTD  SyeuDenm
@QWMMIeSTT  HIUTARWT o660  elrmId QST 60T
o CaugmABmensWT (&Y UFLIL6 cevdams  CarmiLiheSs
SILQWETETEHMH  LURSSB0T  (INSHILSHH6UD  GeoTemnLnemn LD
QG6MT6UMTHE S LQ LL|6TEITITTT. 1941 @6V GleuITILLITEDT eLPGOTMMEL S LIGILIL 60
o CLFT. &6  Dlemeumien,  WMHMOIE  C&Teon(heTemend
o EUIIPY RIS,  QUITHMIF  QFWLSHHMET — 8ISHEHEL L M6
LISIHmILILIGS6) Goum) 6T60T60T 2 66 6160160 Gah6iTe] 61105 Fn(BILD.

Sub questions

Question Number : 146 Question Id : 53307220043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[BLOLIGH & SH60T60LD GISHIT600TL_Si

. su@l(zm
2 g,q&&ru

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307220044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GBLAIBITSLD 6T(LRIHG SITEVLD

1. 11 &0 BITMMTeoor(h)
2. 12 94D BITMHMT6ooT(h)
3. 13 Q41D BITMHMITEoT(h)
4. 19 LD HITMHMIT6o0T(h)

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307220045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@)L LiemLLILN60T (LNG&60T6mLOL LILLIGOT LLITSI?

QUGN © 6UoT 6
. ©)6VSBIL @)60TLILD
GULDGSIT M AMIGH6V
2{TFILIVMIGH6

e e B

Options :
1.1
2.2



3.3
4.4

Question Number : 149 Question Id : 53307220046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LISFHMmIG606T 6B [HES eUMUILILN6LEVITE LT

L USLmSIflwy

2. QBTG IWIT
3. eLpeV 9 Sl

4. @ eI WIMTASIwT

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307220047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LIS\ MILILIGH 608 6UTEVITDM! 266N HITL (H6)S)

. CLAGULD
2. 2600
3. S0
4. UGHGLD

Options :
1.1
2.2
3.3
4.4





